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UGC NET PAPER 2 DECEMBER 05, 2021 SHIFT 1 ODIA QUESTION PAPER

Topic:- Oriya_SHAAN_NOV21A

1) 'SQINSNE! FAITRINIZEH 60Q AP 6RHE ?

[Question ID = 1199][Question Description = S2_qSNz_PG_ORI_QO01]
1. 199 QELIg [Option ID = 4793]

2. QSR YRIS [Option ID = 4794]

3. F1G9 2LYL, [Option ID = 4795]

4, AR ARYERAUTX RELIE [Option ID = 4796]

Correct Answer :-
o ISR RELIL [Option ID = 4793]

2) '@0168 MO Q@ SN QUL - IR RIFIR RS ?

[Question ID = 1200][Question Description = S2_qSNz_PG_ORI_Q02]
1. @192l <9 [Option ID = 4797]

2. Il 1€l [Option ID = 4798]

3. §QIRQ Q19 [Option ID = 4799]

4. 2SUSIeE Q19 [Option ID = 4800]

Correct Answer ;-
* @olgld «lId [Option ID = 4797]

3) '2YGYFN'Q RSLC| @97

[Question ID = 1201][Question Description = $2_qSNz_PG_ORI_QO03]
1. ®9IQ12l Q1€ [Option ID = 4801]

2. @RS QI€ [Option ID = 4802]

3. 2ULIe Wi [Option ID = 4803]

4. J6419% Q11 [Option ID = 4804]

Correct Answer :-
s @Wol9gldl 1< [Option ID = 4801]

4) ‘colldean’ SIYQ aedel §9?[Question ID = 1202][Question
Description = S2_qSNz_PG_ORI_Q04]

1. @E° 69él [Option ID = 4805]

2. 2GS 19 [Option ID = 4806]
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3. €012] §1999 [Option ID = 4807]
4. QRI9E GI€l [Option ID = 4808]

Correct Answer :-
¢ QLT 6914 [Option ID = 4805]

5) ‘QFIQ A°EGl, 6RYIE L°Eel B do'R L°EeI’'R 98 &9 ?

[Question ID = 1203][Question Description = S2_qSNz_PG_ORI_QO05]
1. SRS 1€ [Option ID = 4809]

2. YSYSIFR I [Option ID = 4810]

3. @992 Q< [Option ID = 4811]

4, £651l9% K& [Option ID = 4812]

Correct Answer :-
» Qo 4 [Option ID = 4809]

6) ‘g9l SSIFE’ B ASTSl &9 ?

[Question ID = 1204][Question Description = S2_qSNz_PG_ORI_QO06]
1. RIRILQ FQYRIR [Option ID = 4813]

2. S8R @66@%! [Option ID = 4814]

3, 9908 AILIANG [Option ID = 4815]

4. Y1RFE QI [Option ID = 4816]

Correct Answer :-
s QIRIFLA SQYRID [Option ID = 4813]

7) ¢l @EIIQ QURI ‘GFIeL’ 6 dITRMYLR AR ‘@14’ afa[~ X1
o146 Qﬁ@ ?[Question ID = 1205][Question Description =
S2_qSNz_PG_ORI_Q07]

1. 6561 QRIS [Option ID = 4817]

2. 621599¢14 9L [Option ID = 4818]

3. g5 IR81% [Option ID = 4819]

4. Q6 [Option ID = 4820]

Correct Answer ;-
o 6UE QG [Option ID = 4817]

8) “ARIFNY 68 6RUSRY | 6GUESR RIS OF QA
ORQ ASCISI IR | FISIQ BRI KFMI 11 7- 9§ 99T 69Q 989 2Me
?

[Question ID = 1206][Question Description = S2_qSNz_PG_ORI_QO08]
1. QUYISS [Option ID = 4821]
2. €194 9°&C| [Option ID = 4822]
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3. Qﬁ?l@iéll [Option ID = 4823]
4. QY NGl [Option ID = 4824]

Correct Answer :-
¢ WISIQ'S [Option ID = 4821]

9) 6Q@Q% d0Idl ALQIAeS AFICRISHI §I8 ?[Question ID = 1207]
[Question Description = S2_qSNz_PG_ORI_Q09]

1. 2ARFR BZ2 RILYIQU [Option ID = 4825]

2. 968 QYS9 @& [Option ID = 4826]

3. Q1991 DIFGY- 9@ 2RIG [Option ID = 4827]

4. aRI9& [Option ID = 4828]

Correct Answer :-
» ?Jlba{iﬁ?ﬁ? G@“&JI @lQY2lIg [Option ID = 4825]

10) G¢ 99996 FJUQ §alnta ALIAE 1968 AIFSR ?[Question ID =
1208][Question Description = $2_qSNz_PG_ORI_Q10]

1. TGP 2SRIA [Option ID = 4829]

2, dIg'6ea [Option ID = 4830]

3. 28199 QI9S [Option ID = 4831]

4, 9SSl [Option ID = 4832]

Correct Answer :-
+ 2SR AL [Option ID = 4829]

11) 69 A% QI9Y QISR 2794l 98IFa QR ?
A. P9I LIFe RE

B. 667 @ISy

C. SNIFINICAILS

D. JOIR Q4Ife Qa9

0% Q0T GOING a9

[Question ID = 1209][Question Description = S2_qSNz_PG_ORI_Q11]
1. A @ B [Option ID = 4833]
2. B @ C [Option ID = 4834]

3. C 3 D [Option ID = 4835]
4. A 3 D [Option ID = 4836]

Correct Answer ;-
« A BB [Option ID = 4833]
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12) 69Q QT SIAULAS QeS| ?
A. 216

B. 24K A°EE!

C. fgiQIegals

D. €165 eNG]

0a A90d G108 S

[Question ID = 1210][Question Description = $2_qSNz_PG_ORI_Q12]
1. A B B [Option ID = 4837]
2. B 3 C [Option ID = 4838]
3. C 3 D [Option ID = 4839]
4. A @ D [Option ID = 4840]

Correct Answer :-
» A BB [Option ID = 4837]

13) BG6I6R 999 TNIFFLI & 699 §AT FIFI6Q ARETE ?
A. 8edIee

B. QSIAG

C. 6§]eeRIS

D. SISNRIQULE]

0@ 2908 FI08 a9

[Question ID = 1211][Question Description = $2_qSNz_PG_ORI_Q13]
1. A G B [Option ID = 4841]
2. B @ C [Option ID = 4842]
3. C B D [Option ID = 4843]
4. A B D [Option ID = 4844]

Correct Answer :-
» A BB [Option ID = 4841]

14) 690 Q0% QIFES QISY ?
A. USSR

B. @RISQES

C. 62AAB

D. SIS QY6
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0f Q96 G196 Fou

[Question ID = 1212][Question Description = S2_qSNz_PG_ORI_Q14]
1. A B B [Option ID = 4845]

2. B G D [Option ID = 4846]
3. C B3 D [Option ID = 4847]
4. A B C [Option ID = 4848]

Correct Answer :-
« A BB [Option ID = 4845]

15) 699 9R% AQUCINLT QC ?
A. JRERBNGI

B. 66119161 @GNS

C. §ig geUe s

D. gg8ligh
0% QA6 G196 Fou

[Question ID = 1213][Question Description = $2_qSNz_PG_ORI_Q15]
1. A @ B [Option ID = 4849]
2. B @ C [Option ID = 4850]
3. A B D [Option ID = 4851]
4. C 3 D [Option ID = 4852]

Correct Answer :-
» A BB [Option ID = 4849]

16) @6igl2 Q1d, 6sleg QId, SRAIA QU 6 AGUSISS Fdw 2AgaAI
896 ARIR 6ME |

A. @Uegge

B. RIS

C. 26NFNIRN L°ECI

D. 2lIFJUQESME

0@ 298 5106 99 |

[Question ID = 1214][Question Description = S2_qSNz_PG_ORI_Q16]
1. A, B, C, D [Option ID = 4853]
2, B, D, A, C [Option ID = 4854]
3. C, B, D, A [Option |ID = 4855]
4. D, A, B, C [Option ID = 4856]

H
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Correct Answer ;-

A, B, C, D [Option ID = 4853]
17) 2!&]?1@61, 1651 g‘ﬂlﬁ‘, el KAQIa G ﬂl@@ tlg SIgQ AG 6
S‘ﬁﬂﬂlﬁﬁfa ¢l ﬁﬁ‘rlaﬂ ool |

A. QIRIS 6RISE
B. FlI9¢ 66lIEQ

C. g6eQ Qlg

D. QUAE IS

0% Q00d FNING /9 |

[Question ID = 1215][Question Description = S2_qSNz_PG_ORI_Q17]
1. A, B, C, D [Option ID = 4857]
2. C, D, A, B [Option ID = 4858]
3. D, C, B, A [Option ID = 4859]
4. B, A, D, C [Option ID = 4860]

Correct Answer ;-
» A, B, C, D [Option ID = 4857]

18) QIFISRE AL, PERAFSR, 1616 |19 G qYIAIe Afw g6
c199eq dal2 |

A. €6 FLIgQY

B. AIEGY 69Q9El

C. @INgll

D. AYI9 QIR

0% Q00F GSING /9 |

[Question ID = 1216][Question Description = $2_qSNz_PG_ORI_Q18]
1. B, A, C, D [Option ID = 4861]
2.D, C, B, A[Option ID = 4862]
3. C, A, B, D [Option ID = 4863]
4. A, B, D, C [Option ID = 4864]

Correct Answer :-
*» B, A, C, D [Option ID = 4861]

19) RIS QIR 2A9FeH FEYID £8C P°RRE YL §9 TSI SN |
A. AR4l1
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B. 99AREG
C. g6% *80l

D. 2YAG

0@ 2908 5106 99 |

[Question ID = 1217][Question Description = $2_qSNz_PG_ORI_Q19]
1. A, B, C, D [Option ID = 4865]
2. B, D, C, A [Option ID = 4866]
3. A, C, D, B [Option ID = 4867]
4, C, A, B, D [Option ID = 4868]

Correct Answer ;-
» A B, C, D [Option ID = 4865]

20) RIS QIR 2AgR6E JARgLaa g SI0d e |
A. 88 G G191

B. 684181

C.6516M & &

D. §QIS 9% R

0@ 2998 5106 a9 |

[Question ID = 1218][Question Description = S2_qSNz_PG_ORI_Q20]
1. A, B, C, D [Option ID = 4869]
2. B, C, A, D [Option ID = 4870]
3. A, C, D, B [Option ID = 4871]
4. C, A, B, D [Option ID = 4872]

Correct Answer ;-
* A, B, C, D [Option ID = 4869]

21) '3217] a°gl gERIQAIoN AISET ‘QgRRAUNST QdlR] dRIF K026m ?
[Question ID = 1219][Question Description = $2_qSNz_PG_ORI_Q21]
1. Q97 AIEGY Qe [Option ID = 4873]

2. ¢l [Option ID = 4874]

3. QR S6T84N Q9IS [Option ID = 4875]
4. IGRI 9F 9GS [Option ID = 4876]

Correct Answer :-
* Lqh AITSY SllR [Option ID = 4873]
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2digs MeEs daiIdeliswl geleel 669 ATLIEH 21619916 FXYMI ?
[Question ID = 1220][Question Description = S2_qSNz_PG_ORI_Q22]
1. 1932 [Option ID = 4877]

2. 1920 [Option ID = 4878]
3. 1925 [Option ID = 4879]
4. 1929 [Option ID = 4880]

Correct Answer :-
* 1932 [Option ID = 4877]

23) 690¢ §lIgg g 2AIcIdiT AAUILR 98E ?[Question ID = 1221]
[Question Description = S2_qSNz_PG_ORI_Q23]

1. 94918 [Option ID = 4881]

2. SQEIRIE [Option ID = 4882]

3. 6514, [Option ID = 4883]

4, g6y [Option ID = 4884]

Correct Answer ;-
 QYRI8 [Option ID = 4881]

24) ‘€199 QWFUIQLAIRY [ GRISIS 929 QUYIAR FIF @61 ?

[Question ID = 1222][Question Description = $2_qSNz_PG_ORI_Q24]
1. §fl CPR1A [Option ID = 4885]

2. JEICE [Option ID = 4886]

3. SSRGS [Option ID = 4887]

4. RIREKIg [Option ID = 4888]

Correct Answer :-

o QR SRR [Option ID = 4885]
25) ‘Q4ea 219l 2IN2l’, ‘9 QLS G ‘6T dieiqell’ 2IQ
QALAAS 2V 69Q SAE AL 9°§ < ?[Question ID = 1223][Question
Description = $S2_qSNz_PG_ORI_Q25]

1. 2@ YW [Option ID = 4889]

2. §1Ull [Option ID = 4890]

3. 951 69629U6N [Option ID = 4891]
4. 9G9I QI9S [Option ID = 4892]

Correct Answer ;-
o 2l iUl [Option ID = 4889]

26) F6YID 692 9RT QAR QUFISE 696LRS G]. ?
A. FJ20 QE6QE
B. 08449 -909
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C. di9 9 Gax

D. Q2 gT6M SIe
0% Qs G810¢ e

[Question ID = 1224][Question Description = S2_qSNz_PG_ORI_Q26]
1. A @ B [Option ID = 4893]
2. B @ C [Option ID = 4894]
3. C 3 D [Option ID = 4895]
4, A B D [Option ID = 4896]

Correct Answer ;-
« A BB [Option ID = 4893]

27) 669FIFSIL UINIEH PIVIA AFDQF FINE 6TR 699 IFFTA
gas age a6Ks ?

A. 9661510 Q2
B. QI6G YR 69620
C. F651I a8 QIY

D. F dFFIAS

0a ae0d 89108 S

[Question ID = 1225][Question Description = S2_qSNz_PG_ORI_Q27]
1. A @3 B [Option ID = 4897]
2. B @ C [Option ID = 4898]
3. C B D [Option ID = 4899]
4. A G D [Option ID = 4900]

Correct Answer ;-
» A BB [Option ID = 4897]

28) 69Q QAT YLYSFS USSR ?
A. §N6SQ

B. Si@QUeIy

C. 94oF °R6LBR F1eM

D. AIQ AINRIF FQFQ

0@ 2908 GFI08 e

[Question ID = 1226][Question Description = S2_qSNz_PG_ORI_Q28]
1. A B B [Option ID = 4901]
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2. B 3 C [Option ID = 4902]
3. C 3 D [Option ID = 4903]
4. A @ D [Option ID = 4904]

Correct Answer :-
« A BB [Option ID = 4901]

29) ‘@@-616-619° B ‘df)’ 6lF 9RT0 YR K2IGEeFl TEE @ |
A. 96 QUSRI

B. 681IRIS Q1§ RIS

C. FIRL1904 AISgIR

D. feUIee aARIdIg

0% Q00 GOING a9

[Question ID = 1227][Question Description = S2_qSNz_PG_ORI_Q29]
1. A @ B [Option ID = 4905]
2. B @ C [Option ID = 4906]
3. C &3 D [Option ID = 4907]
4. A B D [Option ID = 4908]

Correct Answer :-
» A (BB [Option ID = 4905]

30) 60Q 9% QUIAS Ags Q! ?
A. SIQ€Is1 96l

B. 4eRISR1

C. e 9918

D. 6R161IS

0% Q0T GOING a9

[Question ID = 1228][Question Description = $2_qSNz_PG_ORI_Q30]
1. A B B [Option ID = 4909]
2. B B C [Option ID = 4910]
3. C 8 D [Option ID = 4911]
4. A B D [Option ID = 4912]

Correct Answer ;-
« A BB [Option ID = 4909]

31) ‘@’ 991 98¢ ‘¢’ 990 QALY 9°aG FQA8 QR |
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‘@ 99 ‘o 99
A. QURAFIA QUL . 2INNeR
B. 6FIEAGEIES 641G . gRsiay
C. 691199g 919 . §QIE

D. S15a4 Qlg Iv. f6eat

G9d G99 96 FdQ Qdgde 09T 89 aa:

[Question ID = 1229][Question Description = $2_qSNz_PG_ORI_Q31]
1T.A-UILB-1l,C-1V, D-1[Option ID = 4913]
2.A-IV, B-Ul, C-1l, D-1[Option ID = 4914]
3.A-ILB-1,C-1l, D-IV [Option ID = 4915]
4. A-1L,B-1l,C-1V, D-Ill [Option ID = 4916]

Correct Answer :-
s A-NILB-I,C-1V, D-1[Option ID = 4913]

32) ‘@’ 991 9E0 ‘O YA QAL I°4F FRAS FQ |

‘@ 9¢ ‘6’ ¢l
A. §14l Qegy | ARG 68IR oNE|
B. 2igw Il. 69ldIR 6RIM
C. 6lIoNg <142, §19162 NS

D. qeldIS IV, NG 6QIM

G9g G99 96% R Qdgde 2e9d 89 aa:

[Question ID = 1230][Question Description = S2_qSNz_PG_ORI_Q32]
1.A-1IlLB-1,C-1IV,D-I|[Option ID = 4917]
2.A-IV,B-1lIl, C-1I, D-1[Option ID = 4918]
3.A-IV,B-1l,C-Ill, D- I [Option ID = 4919]
4. A-1,B-1l, C-1V,D- Il [Option ID = 4920]

Correct Answer ;-
e A-NILB-Il,C-1V,D-1[Option ID = 4917]

33) ‘@’ 991 9E0 ‘O YA QALY I°4F FRAE aQ |

‘@ 9¢ ‘G’ 9l
A, F16QI9&E €I . ERULR g
B. Q§&e 9I9 Il. R106Q1S!
C. Sa8 ag . slIeqleqales
D. Q6€1$l dISigIat Iv. €918\

G9gd G99 96 FdQ Qdgde Ae9d 89 aa:

[Question ID = 1231][Question Description = $2_qSNz_PG_ORI_Q33]
1.A-1,B -1V, C-Ill, D- 1 [Option ID = 4921]
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2.A-1,B-1l,C-1V,D- Il [Option ID = 4922]
3.A-IV,B-1ll,C-1,D -l [Option ID = 4923]
4. A-1ll, B-1l, C -1V, D-1[Option ID = 4924]

Correct Answer :-
s A-ILB-IV,C-Ill, D-1[Option ID = 4921]

34) ‘@’ 9 986 ‘Y’ 9 QYD 9°9E FQUS QG |

‘@’ 9l ‘el’ 991
A. The Myth of Sisyphus l. Eliad Mircea

B. Existentialism Il. Walter Kaufmann
IC. Myth and Reality lll. John Macquarre
D. Existentialism from IV. Albert Camus
Dostoevsky to Sartre

Qg Yag 96 FUQ LAY Ae9d g9 9

[Question ID = 1232][Question Description = S2_qSNz_PG_ORI_Q34]
1. A-IV,B-1ll, C -1, D - Il [Option ID = 4925]

2Z.A-1ILB-1,C-1V,D-I[Option ID = 4926]

3.A-ILB-1,C-1, D- IV [Option ID = 4927]

4. A-1,B-1IV,C-1l, D-Ill [Option ID = 4928]

Correct Answer :-
» A-IV,B-1ll, C-1, D- Il [Option ID = 4925]

35) ‘@’ A 986 ‘4’ 90 QYD 2°de GRS ! |

‘e’ D¢l ‘o’ 99
A, QUG Nel l. d6SIg <19
B. QIQEE NGl . @61g12 Q14
C. g% NG| . 2gueles <19
D. 2IFJINES NS IV. SR QI

G Yag 9 FUQ LAY 2e9d 99 9

[Question ID = 1233][Question Description = $2_qSNz_PG_ORI_Q35]
1.A-1,B-1l,C-1V, D-Ill [Option ID = 4929]
2Z.A-IV,B-1Il, C-1, D-Il [Option ID = 4930]
3.A-IV,B-II,C-Ill, D-1[Option ID = 4931]
4. A-1L,B-1,C-1V, D -1 [Option ID = 4932]

Correct Answer ;-
s A-LLB-II,C-1V,D-Ill [Option ID = 4929]
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QISR VUYI AQALUR FUR 6900 4I1GEE ?[Question ID = 1234]

[Question Description = S2_qSNz_PG_ORI_Q41]
1. QIQL1L A1 [Option ID = 4933]

2. 28K [Option ID = 4934]

3. QIS¢ [Option ID = 4935]

4, 81 919! [Option ID = 4936]

Correct Answer :-
. QU1 21y [Option ID = 4933]

37) 6QR NG a@‘ﬂm YR F9RGIR FIR gRNEES ?[Question ID =
1235][Question Description = S2_qSNz_PG_ORI_Q42]

1. 2IRKISRI [Option ID = 4937]

2. 9] [Option ID = 4938]

3. @9l [Option ID = 4939]

4. R19Q [Option ID = 4940]

Correct Answer ;-
* 2Tl [Option ID = 4937]

38) 69Q YFT 6MIGE SUBS ?[Question ID = 1236][Question
Description = S2_qSNz_PG_ORI_Q43]

1. d [Option ID = 4941]

2. Q [Option ID = 4942]

3. O [Option ID = 4943]

4. 6| [Option ID = 4944]

Correct Answer :-
* ] [Option ID = 4941]

39) 68GQaIYl 92 IR Q¢S 2I6Rgl LR AUV 694 AR ?

[Question ID = 1237][Question Description = S2_qSNz_PG_ORI_Q44]
1. QUL [Option ID = 4945]

2. 21¥& [Option ID = 4946]

3. MITQ [Option ID = 4947]

4. 1% [Option D = 4948]

Correct Answer ;-
o QAU [Option ID = 4945]

40) 69lIENGI2 ARIES QUYL FIRIQ QA% ceeaIgeIga ?[Question
ID = 1238][Question Description = S2_qSNz_PG_ORI_Q45]

1. Q159! [Option ID = 4949]

2. 2JEY [Option ID = 4950]

3. FISEISIR [Option ID = 4951]
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4. QLA KIL [Option ID = 4952]

Correct Answer ;-
. G‘I@‘Q‘@I [Option ID = 4949]

41) 969§ ARIER 690 QANUILES ‘ANCLH’ SO 8 Qfiel gad
@ Q8 ?[Question ID = 1239][Question Description =
$2_qSNz_PG_ORI_Q46]

1. @IRIG S [Option ID = 4953]

2. @1R68% [Option ID = 4954]

3. 2IRISSR 2LLIY [Option ID = 4955]
4. SYIESENEE AU [Option ID = 4956]

Correct Answer :-
o QRIS SR [Option ID = 4953]

42) €1691% Q9w gad gaIfie g 699F ?[Question ID = 1240]

[Question Description = S2_qSNz_PG_ORI_Q47]
1. 2IQENS [Option ID = 4957]

2. 66199989 S0 [Option ID = 4958]

3. SRFRUIR QLIS [Option ID = 4959]

4. A9 Fal [Option ID = 4960]

Correct Answer :-
o Z9ING [Option ID = 4957]

43) 4651519 0dl 6QQ oly e dieY cag AIgeY 9FI6L e gagia
dINSE ?[Question ID = 1241][Question Description =
$2_qSNz_PG_ORI_Q48]

1. 4919 B 2ueles [Option ID = 4961]

2. ZIGQQEQLII‘EJGSI [Option ID = 4962]

3. @odlat Lmellm [Option ID = 4963]

4. A90IQ F1IUEG [Option ID = 4964]

Correct Answer :-
o QEIF G AFYANSS [Option ID = 4961]

44) 629 dISUSY 946 SRcrE AR AUNIN RLLR 61N FTRE ?
[Question ID = 1242][Question Description = S2_qSNz_PG_ORI_Q49]
1. 688 K6%| [Option ID = 4965]

2, d6dim [Option ID = 4966]

3. BREBRSS [Option ID = 4967]

4. AIFEINS [Option ID = 4968]

Correct Answer ;-
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+ GRQ @6R1 [Option ID = 4965]

45) 6PV 69Q Glaguide L6999 QA2Y19e g9 ?[Question ID =
1243][Question Description = S2_qSNz_PG_ORI_Q50]

1. QIEZERE CIGIT [Option ID = 4969]
2. 69I9RINE FILIGIS [Option ID = 4970]

3. @4E 94 Q19 [Option D = 4971]
4, F6€1g E14 [Option ID = 4972]

Correct Answer ;-
* Qlegoold C121g [Option ID = 4969]

46) 1918 VUNSIEA 2ITY QUYl FEER 69Q 69Q VUG TXI4 ?
A. SIfR

B. 654¢¢

C. 9°98

D. SIfiM

0% Q0 GOING a9

[Question ID = 1244][Question Description = $2_qSNz_PG_ORI_Q51]
1. A B B [Option ID = 4973]

2. B G C [Option ID = 4974]
3. C 3 D [Option ID = 4975]
4. A6 D [Option ID = 4976]

Correct Answer :-
* A BB [Option ID = 4973]

47) 691D 699 0T A6LIALYIA ?
A. 99 & 29

B. AAISIIN €8

C. AINI69 QIS

D. §qleud

0a A90d G9108 a9

[Question ID = 1245][Question Description = S2_qSNz_PG_ORI_Q52]
1. A @ B [Option ID = 4977]
2. B 3 C [Option ID = 4978]
3. C 8 D [Option ID = 4979]
4. A B D [Option ID = 4980]
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Correct Answer ;-

« A BB [Option ID = 4977]

48) EY169c ddla 69‘5 o199 d dIo1q emiaadl G REIENQ Elléj_ﬁ‘ﬁ?
dalsl ?

A. S12ie G 6RI@sI2AR a2l
B. Q1§10 @2l

C. 9% 9% 98 d1a8

D. dif €499 9868

0% Q00 GOING a9

[Question ID = 1246][Question Description = S2_qSNz_PG_ORI_Q53]
1. A B B [Option ID = 4981]
2. B 3 D [Option ID = 4982]
3. C &3 D [Option ID = 4983]
4. A G C [Option ID = 4984]

Correct Answer ;-
» A BB [Option ID = 4981]

49) 680 QAT @80l RITFSRA ARIESR ?
A. 68461961

B. 1Y%

C. ¢ 9% 98F g6ERal

D. S9N

0@ 2908 GFI08 e

[Question ID = 1247][Question Description = S2_qSNz_PG_ORI_Q54]
1. A G B [Option ID = 4985]
2. B @ C [Option ID = 4986]
3. C B D [Option ID = 4987]
4. A B D [Option ID = 4988]

Correct Answer :-

» A BB [Option ID = 4985]
50) PRIACAITEE ‘6CEI60'Q 6F16HY’ B ‘AISOIR 6Q1F’° 6IF §RTR
SRLF AAIFEE TEE 9 |

A, 60liMIdenIcs de'loa
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B. 99¢18 A9QI9S

C. 661IDIR SRNE UGG
D. QUFRS dE'ING

0% Qe 88104 99

[Question ID = 1248][Question Description = $2_qSNz_PG_ORI_Q55]
1. A @ B [Option ID = 4989]
2. B @ C [Option ID = 4990]
3. C (3 D [Option ID = 4991]
4, A G D [Option ID = 4992]

Correct Answer ;-
» A (BB [Option ID = 4989]

51) QIR QIS FFININSH RIVIQ ‘6’ I AF¢ ¢ 990 QdYD fRe
Qo |

‘@’ 99 ‘G’ 9
A. §6101 FR l. 6ARIER
B. Isifll S I, @646l
C. 9018 S . 8999
D. gl Yad IV. 6812]

G9d G99 96% FdQ Qdgde 2e9d 89 aa:

[Question ID = 1249][Question Description = S2_qSNz_PG_ORI_Q56]
1T.A-IL,B-1l,C-1,D-IV[Option ID = 4993]
2.A-1,B-1Il,C-1IV,D-I[Option ID = 4994]
3.A-1I,B-IV,C-1,D -l [Option ID = 4995]
4. A-IV,B-I, C-Il, D - I[Option ID = 4996]

Correct Answer :-

* A-Il,B-Il,C-1,D-IV[Option ID = 4993]

52) ‘@’ 991 986 ‘¢’ 99Q QAR 9°0S TS KN |

‘e’ 94 ‘o’ 961
A, QR84 Uél . 199 Q19

B. §i§ gouél I. §ig] 29¢ |19
C. dgél lll. FIL16ES QL
D. FlIR64% g6l IV. SIRI196 Q14

Gegg Sag 9 fUQ KA a9 g9 9

[Question ID = 1250][Question Description = $2_qSNz_PG_ORI_Q57]
1.A-IL,B-1,C-1V, D-lll [Option ID = 4997]
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2.A-1,B-1ll,C- IV, D- Il [Option ID = 4998]
3.A-I,B-1V,C-1, D -l [Option ID = 4999]
4. A-1,B-1lI, C-1ll, D - IV [Option ID = 5000]

Correct Answer :-
s A-Il,B-1,C-1IV, D-ll [Option ID = 4997]

53) ‘@’ 961 98¢ ‘4’ 99a QU 9°ad FQdd @ |

‘@’ 9¢ ‘61’ 991
A. S19G QAIQ F1R1E . 1929
B. 9651510 Q2 . 1921
C. esldNgI2l LIS . 1938
D. g69ig FILIE IV. 1914

Ggg Sag 9 fUQ LAY Ke9d g9 9

[Question ID = 1251][Question Description = S2_qSNz_PG_ORI_Q58]
1.A-IV,B-1l, C-Ill, D-1[Option ID = 5001]
2.A-1L,B-1l,C-1,D - IV[Option ID = 5002]
3.A-1I,B-1,C-IV,D- Il [Option ID = 5003]
4, A-1,B-IV,C-Il, D- Il [Option ID = 5004]

Correct Answer ;-
e A-IVB-Il,C-Ill, D-1[Option ID = 5001]

54) ‘@’ 961 98¢ ‘6 29R QALY 9°d4 FQUE KR |

‘@ 99 ‘6’ 91
A. 1994 Q19 l. 1848
B. QgaI2 @ Il. 1884
C. AIJges QUG . 1864
D. QRIIGIZI QUL IV. 1853

@9 G99 96% R Qdge 09T g9 aa:

[Question ID = 1252][Question Description = $2_qSNz_PG_ORI_Q59]
1.A-IV,B-1,C-Il, D- Il [Option ID = 5005]

2.A-1,B-1l,C-1Il, D- IV [Option ID = 5006]

3A-ILB-II,C-1V,D-I[Option ID = 5007]

4. A-1,B-1V,C-1,D -1l [Option ID = 5008]

Correct Answer :-
s A-IV,B-I,C-Il, D-Ill [Option ID = 5005]

55) ‘@’ 99 Q8¢ ‘¢’ YU RUYD A°4G FQAS QQ |

‘@’ 94 ‘o’ 9¢
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A. deYeet I HELIge QuayIg
B. 2fje AgIe Il. F19QIRE QAAKYIL
C. aal @ aial . 6dlouéie QUeyIg
D. gReISI IV. E1Qe eI

@9 G99 96% FdQ Qdgde e9d 89 aa:

[Question ID = 1253][Question Description = $2_qSNz_PG_ORI_Q60]
1.A-IV,B-Ill, C-Il, D-I[Option ID = 5009]
2. A-1ILB-1,C-Il, D-IV[Option ID = 5010]
3.A-NLB-IV,C-1l, D-1[Option ID = 5011]
4. A-1,B-1l,C-1,D-IV[Option ID = 5012]

Correct Answer ;-
s A-IV,B-IIl,C-Il, D-1[Option ID = 5009]

56) 6@QG §BATIN FISIT VI FIFIEN ?[Question ID = 1254]

[Question Description = S2_qSNz_PG_ORI_Q61]
1. AUFRESFR 29MT [Option ID = 5013]

2. G669 162G [Option ID = 5014]

3. QIRE 9YSe [Option ID = 5015]

4, 216619@1 el [Option ID = 5016]

Correct Answer ;-
o AURVTYR FIMY [Option ID = 5013]

57) 6RA0 Ca0Be Qam Qeg ﬁSi? ?[Question ID = 1255][Question
Description = S2_qSNz_PG_ORI_Q62]

1. %P 6 ©§% [Option ID = 5017]

2. 49 QIQLS gAsre [Option ID = 5018]

3. S1929€Y [Option ID = 5019]
4. Ag4I9% - 9% FI66I6TRES §& [Option ID = 5020]

Correct Answer :-
o QG (3 @@Q [Option ID = 5017]

58) 6aRG 2519719 68lgm QIoR @65?[Question ID = 1256]
[Question Description = S2_qSNz_PG_ORI_Q63]

1. €181 [Option ID = 5021]

2. 94lIRéN [Option ID = 5022]

3. /1991 [Option ID = 5023]

4, 219 [Option ID = 5024]

Correct Answer :-
» QIS¢1 [Option ID = 5021]
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59) ‘G@Re1 FITY gl 652 ARN6H 61§ @02MI ?[Question ID = 1257]
[Question Description = S2_qSNz_PG_ORI_Q64]

1. g9 [Option ID = 5025]

2. 99@ [Option ID = 5026]

3. 999% [Option ID = 5027]

4, AI9RI6SIE)E [Option ID = 5028]

Correct Answer :-
« o [Option ID = 5025]

60) &9 239Q190 49D LG ?

[Question ID = 1258][Question Description = S2_qSNz_PG_ORI_Q65]
1. @2694IE [Option ID = 5029]

2. 8664 [Option ID = 5030]

3. 9.9.24¢] [Option ID = 5031]

4, QI6E [Option ID = 5032]

Correct Answer ;-
» FUCHYS [Option ID = 5029]

61) 68Q AT QGPER FEFN G6L ?
A. 2994l 299 (])

B. 9RIQ Q°GIRS

C. 280l 219949

D. €e€lIR1 219'd

0a 2908 51068 a9

[Question ID = 1259][Question Description = S2_qSNz_PG_ORI_Q66]
1. A B B [Option ID = 5033]
2. B @ D [Option ID = 5034]
3. C 3 D [Option ID = 5035]
4. A B C [Option ID = 5036]

Correct Answer ;-
» A BB [Option ID = 5033]

62) 699 AT IFIFSI ACFINRE QYN ?
A. 2G589

B. €QU

C. 69¢
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D. 641g
0% QA9G G106 Fou

[Question ID = 1260][Question Description = $S2_qSNz_PG_ORI_Q67]

1. A 3 B [Option ID = 5037]
2. B @ C [Option ID = 5038]

3. B 6 D [Option ID = 5039]
4. A 6 C [Option ID = 5040]

Correct Answer ;-
« A BB [Option ID = 5037]

63) 68Q AT 2GRS 6L ?
A. R1FAERI

B. KAdSIfIS SIS

C. YRelIga Qg

D. 6¢1l SIRGRI HISE

0% 200 GNINE a9

[Question ID = 1261][Question Description = $2_qSNz_PG_ORI_Q68]
1. A B B [Option ID = 5041]
2. B @ C [Option ID = 5042]
3. C 3 D [Option ID = 5043]
4. A B D [Option ID = 5044]

Correct Answer :-
« A BB [Option ID = 5041]

64) 690 ¢R0'G ARSR FRde FIAARAN RVE QUECS SIS ?
A. 94N C

I53)]
D)

B. dI*g8e Gas

C. g2 dalReyegl

D. ASol

0@ 2908 GFI08 e

[Question ID = 1262][Question Description = $S2_qSNz_PG_ORI_Q69]
1. A @ B [Option ID = 5045]
2. B G C [Option ID = 5046]
3. A B D [Option ID = 5047]
4, C G D [Option ID = 5048]
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Correct Answer :-
« A BB [Option ID = 5045]

65) 6% TARE ANl 986 9°UD ?
. 2912
. AIg&ig2ia

0 T~ ~ B -

. QFNES SIS
D. 449 §1e9%
0% Qs G810¢ S

[Question ID = 1263][Question Description = S2_qSNz_PG_ORI_Q70]

1. A @ D [Option ID = 5049]
2. B @ C [Option ID = 5050]
3. A @ C [Option ID = 5051]
4. B 3 D [Option ID = 5052]

Correct Answer :-

* A B D [Option ID = 5049]
66) G660 ¢RT F18QY SAIAINE | U 6515G AR (Assertion) ‘A’
@l6e J9° 2]9'4@51 ﬂ@ (Reason) ‘R’ wll6% §§Q QAUAINS |

QIR (Assertion) A :6RIGG §.8. 2IQ §IACRUG 62AS |
g% (Reason) R: RI96], GQUE AILIFER €A Q6P| SINE |

QI6AID ALY §AT G860 §F g9 §0F I QIYD Qa0d fda
Qe |

[Question ID = 1264][Question Description = S2_qSNz_PG_ORI_Q76]

1. AGR QGE O | R 6228 A Q QYD SUISNI| [Option ID = 5053]
2. ABR Q@0 0% | FIg A Q RUYS SUISYI R §6€ | [Option ID = 5054]

3. ADQ BR @M | [Option ID = 5055]
4. A @M B R 0% | [Option ID = 5056]

Correct Answer ;-
¢ ABGRQDOF | REEQE A Q Qo QYIS [Option ID = 5053]

67) GE6R AT FAESY GAINISE | 92Q 66I1TG IR (Assertion) ‘A’
@UES 9I6° 2AYTG B (Reason) ‘R’ QUCE FEC SAUAINE |

g1aQ| (Assertion) A ;& QEQ QI6Y &8 GRING - QAE, F1RIF B 211€ |
g8 (Reason) R: 6Q9R SISIRSIQ AARE QRIYES € Q@€ SI8Y |
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QACAD AIESY $RT VE6R §¢ goa 8§69 AiIQ QUYe Aaad G4
@ot |

[Question ID = 1265][Question Description = $S2_qSNz_PG_ORI_Q77]
1. ABR Q@2 OF | R 6828 A Q QIS SYISMI| [Option ID = 5057]

2. ABGR Q@0 0% | FIg A Q RUYS SUISYI R §6€ | [Option ID = 5058]

3. ADG B R @@ | [Option ID = 5059]

4. A @@ 8 R O% [Option ID = 5060]

Correct Answer ;-
¢« ABRQWA OF |IRETLQE A D Qo QUIoMI| [Option ID = 5057]

68) GE6R 9T FAESY GANISE | 2R 661G IR (Assertion) ‘A’
@UES 96° 2AYTG B (Reason) ‘R’ QUEE §EC SAUAINE |

gI9g| (Assertion) A: 2AZ}EIG1 98, QY29 61619 AAUSFI |1 FLAAER
QUFCLRNE |

g® (Reason) R: 919161 18I 6297 2GR, F1G6SRICH §4I9 Q68 |

Q6D ALY 9T G860 §¢ gea §F I QIYD Qa0d fda
aa |

[Question ID = 1266][Question Description = $2_qSNz_PG_ORI_Q78]
1. AGR Qe 0% | R 69Q& A Q QY SYISNII [Option ID = 5061]

2. AGR QW OF | €lIg A Q QAYS SUISI R g6% | [Option ID = 5062]

3. ADS G R @M | [Option ID = 5063]

4. A @m G R 0% [Option ID = 5064]

Correct Answer ;-
+ ABGRQ® OF | R6LQE A O Qo QUIoMI | [Option ID = 5061]

69) GE6R AT FAESY GAINISE | 92Q 661G IR (Assertion) ‘A’
@UES 96° 2AYTG B (Reason) ‘R’ QUCE §EC SAUAINE |

g9 (Assertion) A: SISICER UG FISFICIS F6996 6LI6 QIR
G0 K69 |

g% (Reason) R: 68018 946961 F699Q LAIER 6RUF 69NN |

QUEAD FISSY 90G DR6R 7 gea 3eg fRIQ QUYD Aa0s G4
o |

[Question ID = 1267][Question Description = $2_qSNz_PG_ORI_Q79]
1. ABGRQ@L 0% | R 690& A Q QIS SYISNI | [Option ID = 5065]

2. ABGR Q90 0% | FIg A Q RUYS SUISUI R §6€ | [Option ID = 5066]

3. AO® GR @@ | [Option ID = 5067]

4, A 2 G R 0% | [Option ID = 5068]
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Correct Answer ;-
¢ ABRQDOF | R 6EQ&E A O Qo QYoM | [Option ID = 5065]

70) GE69 QT FA8SY GAINISE | 92Q 665G IR (Assertion) ‘A’
@UES 9I6° 2AYTG B (Reason) ‘R’ QUCE FEC SAUAINE |

gIgIG| (Assertion) A : gIg6e d@¢ 696169 G IR, AIg AFTQ
A6 CI6IN |

g2 (Reason) R:6816'Q 924N SYLdIN ARFOR YEAIGETR RN
gg |

QAAEAUD FIEFY AT V66 §F 98 F9F IR QYR AT Fda
aa |

[Question ID = 1268][Question Description = S2_qSNz_PG_ORI_Q80]
1. ABGR Q@ 0% | R 690& A Q QYD SYISNII [Option ID = 5069]

2. ABGR Q@0 0% | FIg A Q RQUYS SUISUI R 962 | [Option ID = 5070]

3. AOSQ B R @M | [Option ID = 5071]

4. A @@ @ R OF [Option ID = 5072]

Correct Answer ;-
» ABRQDY 09 | R6LRR A S Qs QUS| [Option ID = 5069]

71) ‘calml 912’ 694 ASKITR de@l ?[Question ID = 1269][Question
Description = S2_qSNz_PG_ORI_Q81]

1. §GI06<IS [Option ID = 5073]

2. QIEIKIS [Option ID = 5074]

3. JRSYBRIS [Option ID = 5075]

4. FOR6RIRSIS [Option ID = 5076]

Correct Answer :-
¢ QRIORQIS [Option ID = 5073]

72) Q0% RIS 9ea B2 IR gs14 g9 @ as*é” ?[Question ID
= 1270][Question Description = S2_qSNz_PG_ORI_Q82]

1. RNSLIA QP [Option ID = 5077]

2. 2918 6 dordal g& 2294 [Option ID = 5078]

3. @199 9% 6UAIER-R19L191 QREEM [Option ID = 5079]

4. N1 B 661Y61B T QARG [Option ID = 5080]

Correct Answer :-
* {RINGGIB gY9%P [Option ID = 5077]

73) @9 “Annals and Antiquities of Rajasthan” - 29 Qe¢l 4&¢
€1°8] % ?[Question ID = 1271][Question Description =
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S2_qSNz_PG_ORI_Q83]
1. 6G619 9% [Option ID = 5081]
2. 8¢ 869 [Option ID = 5082]
3. QEREE 69194 [Option ID = 5083]
4. ?JI‘E;I.@.QIG‘I@ [Option ID = 5084]

Correct Answer :-
¢ 6ttld ©'¢ [Option ID = 5081]

74) ‘6RIGSISN IFAS’ LR 6MES &9 ?[Question ID = 1272]

[Question Description = S2_qSNz_PG_ORI_Q84]
1. QBELIGN Q16 [Option ID = 5085]

2, 69lldInoy duoia [Option ID = 5086]

3. 2L JLILS [Option ID = 5087]

4. Sad9 ¢1€ldl [Option ID = 5088]

Correct Answer :-
. ﬁi&@@lw @6l [Option ID = 5085]

75) 6QQ% asraY 986 a4°da ‘cjj6§ ?[Question ID = 1273][Question
Description = S2_qSNz_PG_ORI_Q85]

1, d696l® [Option ID = 5089]

2. 99a4@ [Option ID = 5090]

3. JEQEP [Option ID = 5091]

4. GERI9Y [Option ID = 5092]

Correct Answer :-
+ 46949 [Option ID = 5089]

76) 699% JANYN 6RISNS §6€ 2[Question ID = 1274][Question
Description = $2_qSNz_PG_ORI_Q86]

1. €691l [Option ID = 5093]

2. SIRRIQG [Option ID = 5094]

3. RILIR [Option ID = 5095]

4. 9969IRI [Option ID = 5096]

Correct Answer ;-
e ¥6¢ll [Option ID = 5093]

77) 6QQ 6NISFITIENT Colldimey dEolint ‘Qgm FILISN ' Y6
aie dIRGIE ?[Question ID = 1275][Question Description =
S2_qSNz_PG_ORI_Q87]

1. 9902l dell @2l [Option ID = 5097]

2. SRSI6E4 F2ll [Option ID = 5098]
3. 98 QPG [2ll [Option ID = 5099]
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4. 4191919490 @2l [Option 1D = 5100]

Correct Answer ;-
. Qﬁiﬁﬂl d&ll @2l [Option ID = 5097]

78) ‘Qlglel ARRL1’ g2l6sl 600 AGFIER ZI‘QQQ 6 LIN2mI ?[Question ID
= 1276][Question Description = 52_qSNz_PG_ORI_Q88]

1. 1885 [Option ID = 5101]

2. 1902 [Option ID = 5102]

3. 1903 [Option ID = 5103]

4, 1898 [Option ID = 5104]

Correct Answer :-
» 1885 [Option ID = 5101]

79) 69Q% GLINSNE AFRINeS FI6Q ?[Question ID = 1277]

[Question Description = S2_qSNz_PG_ORI_Q89]
1. 6@€IRNGIGP [Option ID = 5105]

2. 6598Y MIml [Option ID = 5106]

3. 9% %% [Option ID = 5107]

4, JRQ481 [Option ID = 5108]

Correct Answer :-
o 6G5IN%IGP [Option ID = 5105]

80) “26Q RLFEY SING 6161 691 QUG RIGEH ag6q ¢8.” - 46T
QILIQ QEQI ?

[Question ID = 1278][Question Description = S2_qSNz_PG_ORI_Q90]

1. 91R618 §QUIRG [Option 1D = 5109]

2. QUFIKY &L [Option ID = 5110]

3. FRIQER QUG [Option ID = 5111]

4. QIRL19NE QIFgIL1 [Option ID = 5112]

Correct Answer :-
o QIREIE @@Hlﬁlﬁ‘ [Option ID = 5109]

81) 699 9R% e8I KA1 SI9F A8 9°YD ?
A. €lg6n 96

B. @& FIRS!

C. 19651 Q4|

D. RIS6RR
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0f Q96 G196 Fou

[Question ID = 1279][Question Description = S2_qSNz_PG_ORI_Q91]
1. A B B [Option ID = 5113]

2. C 6 D [Option ID = 5114]
3. A B C [Option ID = 5115]
4. B G D [Option ID = 5116]

Correct Answer :-
« A BB [Option ID =5113]

82) 629 9R% AIfe Y& ?

A. R
B. §

C.Q
D. ®
0% QA6 G196 Fou

[Question ID = 1280][Question Description = $2_qSNz_PG_ORI_Q92]
1. A 8 C [Option ID = 5117]
2. B 3 D [Option ID = 5118]
3. A B D [Option ID = 5119]
4. C 3 B [Option ID = 5120]

Correct Answer :-
* ABC [Option ID = 5117]

83) 60% G ERIFLITS SI°RIF AR ?
A. QUMIELARIR

B. 826

C. 94gI¢

D. SIFIGIE

0 20as G808 e

[Question ID = 1281][Question Description = S2_qSNz_PG_ORI_Q93]
1. A G B [Option ID = 5121]
2. B B C [Option ID = 5122]
3. C 3 D [Option ID = 5123]
4, A B D [Option ID = 5124]

Correct Answer ;-
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» A BB [Option ID = 5121]

84) 699 9T §RFIY QAR G886 ?
A. SIQESIMIC

B. Q&PE

C. AIg

D. Eall

0% Q00 GNING a9

[Question ID = 1282][Question Description = S2_qSNz_PG_ORI_Q94]

1. A 8 B [Option ID = 5125]
2. B B C [Option ID = 5126]
3. C B D [Option ID = 5127]
4. A B D [Option ID = 5128]

Correct Answer ;-

« A BB [Option ID = 5125]
35) ‘Sﬁ?lﬂlé’ 3 ‘ﬁﬁﬁ'\ﬂ cemiel’ @eCl ATREN Q‘S‘ﬁglﬁ H2lIg6¢l §‘E‘Q
aot |

A. flIgRIQ fliedee

B. RIRMS 06l CI&iglIL
C. 9968 £4alI01

D. QRIICAIES 91GRI9a
0% Q00 GOING a9

[Question ID = 1283][Question Description = $2_qSNz_PG_ORI_Q95]
1. A B B [Option ID = 5129]

2. B3 C [Option ID = 5130]
3. C B3 D [Option ID = 5131]
4. A B D [Option ID = 5132]

Correct Answer :-
« A BB [Option ID = 5129]

86) ‘RIRIGI 1NN, AISIRYNN TINSIN, NQFETO 6 918 69ALR’
-999Eaa 2Age6sl (NHUFAICFA gF AFIQE aQt |

A. QE9Iq ALI]
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B. 651IQUSIL €15

C. 999419 4§
D. 65lI6MISELION AR

0% ead GoI0e ea |

[Question ID = 1284][Question Description = $2_qSNz_PG_ORI_Q96]
1. A, B, C, D [Option ID = 5133]
2. D, C, B, A [Option ID = 5134]
3. C, A, D, B [Option ID = 5135]
4. B,D, A, C [Option ID = 5136]

Correct Answer ;-
» A B, C, D [Option ID = 5133]

87) @69, {2, Q6Adl, 2/Yl - CAERR A°YD AGFES K9 F19YLG
daelel |

A. €16181
B. €, 2168 B 2ACAANCH
C. §1ISQIERAIES
D. R°GI6SCER
0a ead 89108 a9 |

[Question ID = 1285][Question Description = S2_qSNz_PG_ORI_Q97]
1. A, B, C, D [Option ID = 5137]
2. D, C, B, A [Option ID = 5138]
3. C, A, D, B [Option ID = 5139]
4. B,D, A, C [Option ID = 5140]

Correct Answer ;-
* A B, C, D [Option ID = 5137]

88) aid, G156, Q65I® B Y& 6@ AQAICR geRJIAIeg ARI2 |
A. 996

B. 2IfReSE

C. 63661g

D. §¢al2l feUR

0% Q00F FOINE /9 |

[Question ID = 1286][Question Description = $2_qSNz_PG_ORI_Q98]
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, C, D [Option ID = 5141]

, A, B [Option ID = 5142]

, C, D [Option ID = 5143]
, A, B [Option ID = 5144]

ODOr ow

Correct Answer :-
» A, B, C, D [Option ID = 5141]

89) QIAUINKIY, FELIY, RARIS B AITLIGIR 2GRN KL SALYLT
ael2l |

A. QI
B. g

C. dITERRS!

D. @@l

0@ 298 FFI08 99 |

[Question ID = 1287][Question Description = $2_qSNz_PG_ORI_Q99]
1. A, B, C, D [Option ID = 5145]
2. B, D, A, C [Option ID = 5146]
3. B, A, D, C [Option ID = 5147]
4. D,C, B, A [Option ID = 5148]

Correct Answer :-
* A, B, C, D [Option ID = 5145]

90) FRISIFIR 2AGAIER AERIYERN g1 FFINE SR |
A. R @6GAEN

B. 4EQIQ

C. RN

D. 6dig¥

0% 20aG 9106 a9 |

[Question ID = 1288][Question Description = $2_qSNz_PG_ORI_Q100]
1. A, B, C, D [Option ID = 5149]
2. B, D, A, C [Option ID = 5150]
3. B, A, D, C [Option ID = 5151]
4, D,C, B, A [Option ID = 5152]

Correct Answer ;-

« A, B, C, D [Option ID = 5149]
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Topic:- Oriya_SHAAN_NOV21B

1) SRS AF6ELT TI0LS aasel g99eea aan §2 |

2RI MEE 6RITN AAY 684 €l § 689, R1TER AP AR Tag FIE|
€498, QI8! NIV, FIel $g16a 89 87 & 6 INMQE @98l 964G
QERY | FRQ QAITY, FRa FrRel dIR 99g € SITINN ASEISMG
6QI8 69R AINCLAIY 65 QAT 6Q9R Faq PRSI Faq Sl §9g
F6RR g6aNNlg 62F; FRa 617 &7 469 § 6518Ig 6891 AN
GOl FORIN FAR IFINNE | R°AURIER F92IRT VUNER UG FEE,
Self-integration-gl1GI6Q  9R  6ANP-AE6HIea Q4al 6EQl8
UILAIAIFR 981 AUeAMASFTR §F egfldl @ 2Aeg | Ad6gde
218 IS 6NISG & NSIER RILINE To, §ogR | ST Fe6g
64 69€ 2igRlem, 64 Clwa 9T Fod geI6n 2QIR 6L20dem | CIFR &
AR AIKHE, @ Y Yéll; CIFQ Y6 §I8, Y6 Rk Ag; ClFR 984
¢ e AR, 94 § ¢ Al KAQIGF AW QY 64 629F 26HR TIMem
ASIa QA 269 | IF RISR6R 26e §IE, g8 6B 996 S48 91F, 6669
2AI61g |IgMS 98 $0g 2E6669¢ 91 INRES SHQIG 689 |

F1990 9198 ANY 69Q% ﬁSi‘r ?[Question ID = 1289][Question
Description = S2_qSNz_PG_ORI_Q36]

1. 9998 [Option ID = 5153]

2. 5@9 9R1g8! [Option ID = 5154]

3. 9 8916886 [Option ID = 5155]

4. QUSAITIR! 98 [Option ID = 5156]

Correct Answer :-
 Z6dR [Option ID = 5153]

2) FEINGUS 2AFERLT AI0GH A0S ggYPan e 2 |

2kIIE] RIEF 6RIFH A 68 € § 689, RISFQ AP AR Fag TS|
gqa I8l genlag, fIg celen 8¢ Qg @ 9R INQE /Sl AGE|
QEqY | FRa QElIslY, Faa SEPRel IR 99g Sl SITINN AFEISRIY
6QI8 69R AINCINIY 65T VAT 6RER TRG FIWCI FAR T §gg
R6RR 6INRIg 629; SR 6919 §h 469 & 69189Ig 6291 YA
el QoRIa SR INMKAQE | R°URIER AGAUYS QUAER Ag T8,
Self-integration-gl1SI66 9N  6ANP-RE6HAeR 948l 6908
QUILAIIFR g8 1 AsueqIAFeaa 98 €galsl 6 2geg | Rdegdy
218 915291 6RISG & TNeIcn QRIAINE e, §egR | IgMe §e9g
65 69 2Ig2Jen, 69 SIS I& Jou goIea 2GS 686 | ClIFR &
ARl 2A1edd), @ 2l Ggéll; ST fIUEM €1g, 26Mm 69en AS; Slan 988
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¢ & M, 991 § ¢ YR QESISF AT OF 69 696 26N FIMYEM
AeYe QN 9269 | I8 19969 26 ST, g9 6 996 §a% 9IF, 6668
2l SIgRIS 98 $8g RA6H66'E S IRIRES SALIG 689 |

saeﬁ'ﬂmi gdedl @LIAIRNAIRE [Question ID = 1290][Question
Description = $S2_qSNz_PG_ORI_Q37]

1. P6Q 6199 0@ F1969 611878l QU@ [Option ID = 5157]

2. 5Q0 SEPRelq CPlgaSl QUBS [Option ID = 5158]

3. 991 B 935169 ARSI Q4B [Option ID = 5159]

4. Q8 6 Aad4 9T 2198 SYBF [Option ID = 5160]

Correct Answer :-
+ 0QQ 6RIGFY B U6 6S1ERES QUBS [Option ID = 5157]

3) FEINGUS 2AGERLT AI0NH A0S gg9Pan e {2 |

2RIE RK1EF 6RIFN AYY 62Q € § 689, FITFR AIPAY AR Tag FIGI

qa I8l genleg, FIg celen 89 Qg @ aR INMQE /ql aqel
QEigy | GGa gElIsly, FR SIRCl AR 99g Sl SITING ATEISMY
6Q18 69Q UINEERIG 69 20l 62er Gag FIFI Faq ekl §9g
F6RR 6INRIg 699; R0 6919 §F 969 & 6RIERIg 6991 YYAIN
Gelg CARIn Faea IR1ead ] R°QIRIen AegIRe Qldleq g FE8,
Self-integration-gl1SI6Q 9  6ANP-AE6HIea Q4al 6EQl
QuieQIgIfiel g8 AsuegidFiean 98 galsl 6 2gg | adegddq
218 915291 6RING & TNeIcH RIAINE e, FegR | IgRIe §e9g
651 69€ 2IGAY6R, 69 SIFR 9T FSU1 GEI6R 2SR 686 | CIFR §
A A9, € AR Gll; CIFA FIYeR g, 2dem 6aeq AG; SlFR g8
¢ e Uml, g8l § @ AR LElleg AN Qg 64 696K 2R SiMAew
ASIa QA 269 | AT RISR6R 26e §IF, IS 6B 996 S48 91F, 6669
2iFg SIge1e a9 fag R§6969¢ |l IRIRE FAKIG 689 |

6Qad ‘UISAILIFR] &' MAE] 36‘5 ?[Question ID = 1291][Question
Description = $2_qSNz_PG_ORI_Q38]

1. AGUIGIRE [Option ID = 5161]

2. §29®al [Option ID = 5162]

3. §19Q Q°QNGI [Option ID = 5163]

4. 989 S99@S

[Option ID = 5164]

Correct Answer :-
o QQUIG4E [Option ID = 5161]
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4) FINYS AFERLT FI0LE aasel g99eea aan G2 |

2RIE RIST 6RIFN AYY 62Q € § 6829, FITFR AIPRAY AR TaG FIGI
€498, QI8! NIV, FIel $g16a 89 9g & 8 INMQE «AQl 964G
QEQY | SR gElTy, Faa FPREl AR d9g 91 SIFINN ASEISMG
6918 697 AINGLAIG 65 GRCI 69CR FRG FIFSI Faq I §gg
F6RR EINRIG 699; R0 619 §F 469 & 6RIERIg 6991 YYAIN
GoIg CARIR FREH IFNAE | A°ARIER AR QAR WG FLE,
Self-integration-gl1GI6R 9N 6ARFP-E6HIea Qe 6268
ueQIERl g8 1 AseAIMAITTa 98 Sgalisl @ Aeg | Adegaq
218 IS 6NISG & NS RILINE Tou, §ogR | FIYgMT Feg
6% 69 2AIYAUeR, 69 CIFS 9§ Jo g6 2RNG 6LNY6M | CIWR @
AR AI9HE, @ AN Foll; CIFQ f2em €18, U6R 6aaR fg; SlFR 984
€ M, 981 § @ Yl QGSIFTF AW aF 69 689R 2GR FINYSR
QSR QF 9269 | T K196 2l6e FIE, g8 @ gee §aa IE, 6669
2161g SIIRT 95 Tag RE6H69E 91 IR1NE FHSIG 689 |

399 60 T SIgRR TISIER FAMI ?

[Question ID = 1292][Question Description = S2_qSNz_PG_ORI_Q39]
1. 9YIgLSEl [Option ID = 5165]

2. 6SMCP-RE6IES [Option ID = 5166]

3. 2S4S SYLUSESB [Option ID = 5167]

4. QUSAIEIR! 98 [Option ID = 5168]

Correct Answer :-
e QQUIg4E [Option ID = 5165]

5) GINYE AFERLT I0LH daeel ggq9ean aaq {2 |

2RI RISE CRISA NAY 68 € § 68R, TR AIPAY IR Tag QIR
gqa M9l GERIVT, KIS Sglen 89 @9 @ 9% I1Qe |4 AGE|
QElqy | BGa QEIflY, Faa FEPRel IR 991§ Sl SITINN AFEISRIY
6919 690 AINETTIY 69% AT 699R Fag PIFSI Faa SRI §gq
Q600 69RRIg 689; FaR 619 &6 460 € 691ERIg 6291 Y2aAIR
Gelg fORIR FRER YRR | A°NRIER AGIIRS QAR NG 92T,
Self-integration-gl1G16Q 9R 6ARF-0§659ea e4el 628
cueaIgel g1 AsieAMAITTER 9§ oIl G AR | RF6EAR
218 915291 6RING & TNeIcH QRIAINE e, FegR | IgMe §e9g
64 628 26, 64 SlEa 9§ Jou FO6R ALY 6LAY6R | IR &
AR 21948, ¢ Ml GJél; SN FAER 91E, Y6M 68eR Ag; SITR 98¢l
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¢ & M, 991 § ¢ YR QESISF AT OF 69 696 26N FIMYEM
AeYe QN 9269 | I8 19969 26 ST, g9 6 996 §a% 9IF, 6668
2l SIgRIS 98 $8g RA6H66'E S IRIRES SALIG 689 |

R19QQ UGG FAR 6QR 629 ?

[Question ID = 1293][Question Description = $2_qSNz_PG_ORI_Q40]
1. QIRIND YFEISRIG 691 69 [Option ID = 5169]

2. AUILLILIEIR 98 g6RIS @% [Option ID = 5170]

3. QUSRS @R6R Tag 99 &9 [Option ID = 5171]

4, A9 2AJL8 G g TRl 9% [Option ID = 5172]

Correct Answer :-
» QYNNG LDEFMG 6<IY 649 [Option ID = 5169]

Topic:- Oriya_SHAAN_NOV21C

1) SRS 2AG6RLT UIOLS aasel g99eea aan §2 |

gy GRIT MY REAGIENFAICT 6997 6R66gEY QU geagial
SIRG 681N Mecdlgl G6IE a8l §g AgNIS JLTAIQIF AI99E 89!
6262969 QReR 96 A8 69 SRYLaR AdASING] FAgYYQ lang 694
QU6 SRR Q6Q 9 RIS AR 6SIR FAINEQ FIfeE 99° IRIH
QUYD FRFIFIGN 69 699% MR FAQlg 494 g9 @g Agay g
6QIR g1 294 | 2Ag4 g9 K19 A6 AR YUKE! - 968 9¢ A8
2RIFIN & §9A 2ARAR AR §6L 7 IF IR AAUFYSLIN F6 A6L U6T
§%e 6291 § SIT] dN6H G8IE AACUNGEE 7 6968 FUIGI FIEG FIRIG
9@ YRR RIS F6M ? 64 @ 962 FUOR 64 g7 dISNg 661T9 QR
ZRIGIQ 690 SITIR FERE| BAR Gl 601N §18 gLIe G868 ? AId 2R
Q28 ? YRNSSIR AAFYSRIN dIF 99° FIFSIFIR A4Sl SITIN R
qieel 99° 2Agdel 968 ARG 6N FIRIAIER g ATG A9
GRALL | AT IE GBY CITIR CAYRRN 68F | RS AR & Y6m AGAY G
a¢l FrRIER B8 I8 699 ¢ gl 98 2940l € cIgie gdeigiaa saiale
- AgY 298I Agdel Agas 8 AFeRIF 698 g4 2ed e
AGAN 6LQYS| IFIF FUIBIF FUK| 99 SUCIH 2D6H 2AgAAHE
FISU 98 Q6 ARJE §9 99° FINS K199 ARIGS! RIS g9

QAER YISNFISROIR FINS 68Q 98Q @ ?[Question ID = 1294]
[Question Description = S2_qSNz_PG_ORI_Q71]

1. FIREQ K1LLAIGIS 65694 Q]Q [Option ID = 5173]
2. FIF90 9RgEan UASIRG QAQ [Option ID = 5174]
3. FlIQQeQ @ 3 @18 9& Q/Q [Option ID = 5175]
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4, ISR YIRES g9& 9IQ [Option ID = 5176]

Correct Answer ;-
¢ ClIEER KISEIICID 6TERY QQ@ [Option ID = 5173]

2) FINGE AFEKLS A0GE Aeeh gFgeen aan 82 |

AgaY gRING RS9 REAGIENAIET 6997 6R68gEY R geaFIal
SIRG 681N Megdlgl F6IE a8l Gg AgNIS JLTAIQIF AI99E 89!
6R609EI 500 96 AR 69 AL ARFIRA] AGIUQ YRIG 69K
Qe GER K6Q IE FRNGSI A8 691N FAINEQ AINQE 99° YLIR
QLD FIRVIFIA 69 6966 NIR KRG AN 891 §g AgEY I
6QIR g1 294 | 2Ag4 g9 K19 A6 AR YANKE! - 968 9¢ AR
2RIFIN & §9A 2ARAR AR §6€ 7 IF IR AASYSLIN F6 A6L U6T
G000 6891 & CITI IN6R FOIT AACANGEE ? 6868 FUIGI FIEG GI1Ig
9@ 2RI SIS FEM ? 69 & I6¢ THOR 64 gAR dISNg 66T L
ZRIGIN 690 CIFIN QARG AR SIg K60IA I 9IS SR6S ? dId 2l
Q26 7 GRIFSIN AAULTIN AIF 98° AIRQIGIR A4Sl SIFIR R
qQrigel 98° Agdel g6% Re 681 AIFSIgen dlge 23§ 99
GRALE | AT IL GBY CITIR CIYRRN 62F | RS AR & Y6m AGAY G
4] FIER @B AIE 62 & 218l g8 2946 & eIgIa g4eigida sqlale
- fgEY 2gdia 2Agdel Agas *f 2Aeesls 698 94 2ed 2eg
2999 620281 9RIE SuUels SIS 99l SUIcIw 2969 Agaade
FISU 9 Q6L ARJE £9 96° FI9E K199a AIkIee! RIS 29|

AIFER FIFQE, B 699¢ RTIAUCH FLNENGT ?[Question ID = 1295]

[Question Description = S2_qSNz_PG_ORI_Q72]
1. FlIRYD W6l ‘Q@ @deol [Option ID = 5177]

2. Pl GIRINNE] @deR [Option ID = 5178]
3. AlIReQ S6g 980 QUYS ISR QUER [Option ID = 5179]
4. RUGIS AN RASRK [Option ID = 5180]

Correct Answer :-
o {90 LIPED ‘Q"éi @déeo [Option ID = 5177]

3) FINGEC AFEKRLS A0GE deeh gFgeen aan 82 |

AgdY RIS 191 REgISNAI6T 6997 6969969 JIQlda deagial
SIRe 627 K1SedIgl G6IE a8l fg Agaia gedaialf alsegs 8¢l
6968969 Qren 96 281 69 €AgEan A2IRel AgHIR NG 69K
QU6 SRR Q6Q 9 RIS AR 6SIR FINER FIfeE 99° IRIH
QUYD FIRVIFIN 6€ 696G ML 94QIg AJA 91 G AgY Qg
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621N gN 2Ag4 | 294 gF K16 A6 YIG YRNGES! - 968 96 a8
2RJFIN & §9A 2AGAR AR §6L 7 IF IR AAFYSLIN F6 A6L U6T
Q006 6291 § 0121 0969 §0Ig ANSANGEE ? 6868 RUISI FILT SILIg
9@ 2R LIS Q6M ? 69 & 960 FHOR 68 9eR dISNg 661ITT a8
ZRIGIQ 690 LITIN FERE| BAR Gl F60IR §18 geIe G868 ? AIg 2R
Q28 ? GIRILCIN AAFULRIQ AIF 98° AIRKIFIN 2Ag4el SR R
qQrneel 99° 2gdel g6¢ Re 6gIn AIRqIgIen adlae 23 99
GRALLE | AT IL GBT CITIR CIYIRN 62F | RS AR & Y6m AGAY G
a4l FRIER B8 I8 699 ¢ gl 948 2940l € cIgie gdeigiaa saiale
- fgeY Zgdia 2Agdel Agas *f 2Aeels 698 94 ed 2eg
2999 68Q2e 1 IRIE SuIsls {Ie| 991 FUGIE €969 Algaads
FIQU 98 Q6 ARJE §9 99° AIFS K196 ARIGS! RIS g9

AIFER S8f 2AR2A0 RINE K76 ?[Question ID = 1296][Question
Description = $S2_qSNz_PG_ORI_Q73]

1. RS I1eS! [Option ID = 5181]

2. FIGLR 2ISRNE [Option ID = 5182]

3. EIRSQ 2RISIS [Option ID = 5183]
4. ISR AL°RIR [Option ID = 5184]

Correct Answer ;-
» ClaQat QlNeel [Option ID = 5181]

4) FINYS AFERLT UIOLE aasel g99eea Qe §2 |

AgaY RIT MY REAGIENFAIECT 6997 6R66gEY RUIF geagial
SIRG 62IR RI1SRLIE! 8918 e8| §g AgaIa gedaiale aiseed 8ol
6266961 AFER Q& A8 69 SRGLIq AQTIRG] FAGHIR GING 69K
QUEQ SRR Q6Q 9 RIS AR 6SIR FAINER FIfeE 99° IRIH
QLD SIRFIFIGN 69 696€ QIR F5QIg 994 891 &g AN RIG
62IR g™ 2Ag4 | 294 gF K16 A6 YR RNGES! - 968 96 a8
2RIFIN & §9A AqAR AR §6€ 7 IF IR AAYSLIN F6 A6L U6T
Q006 6291 § 0121 0969 501 ANSANGEE ? 6868 FUISI FILG SILIg
9@ 2RYRIS SIS FEM ? 69 & I6¢ THOR 64 gAR dISNg 66T L
ZRIGIN 690 CIFIN QEREI AR SIg K60IA FIE 9SS GR6S ? dId 2l
Q28 ? GIRNLCIN AAFULRIQ AP 98° AIRKIFIN A4Sl SIRIN R
qQIgel 98° Agdel 968 AFe 681 AIFSIgeR dlge A3E 99
GRALE | AT IE GBT CITIR CIYRRN 62F | RS AR & Y6m AGAY G
a4l FRIER B8 I8 699 ¢ gl 948 2940l € cIgie gdeigida saiale
- fgEY 2gdia 2Agdel Agas *f 2Aeels 698 94 2ed 2eg
2999 62Q28 1 9RIE Suels SIS 99l SIcIw 2969 Agaade
FISU 98 Q6 ARJE §9 99° FINS K196 ARIGS! RIS g9
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AgAIRN did @°61 ?2[Question ID = 1297][Question Description =
S2_qSNz_PG_ORI_Q74]

. &a 2IR]T10l9l wm @Ue&Iol [Option ID = 5185]

. ll1aelol YQeekliol [Option ID = 5186]

1
2
3. 19989 USRAS [Option ID = 5187]
4. 225191 996 [Option ID = 5188]

Correct Answer ;-
o 0@ ZYRDD Wil KLUSLIS [Option ID = 5185]

5) GORGES AFELLT IO aaeel g9gean aaa §2 |

gy GRIT MY REAGIENFAICT 6997 6R66gEY RUIS geagial
SIREG 61N F9LAIL! FIE R8I 4g AgYIR JLTAIAIE ISR 8¢
6266961 AFER Q& A8 69 SRGLI AQATIRG] FAGAIR GING 69K
QIER TOR RER1 IE GRIGSI AR 691N AIFER AIFRE I9° 92IR
QUYD FIRAITION 69 696E NN ABRIG 99 €91 &g AgYY RIS
62IR g™ 2Ag4 | 294 gF K16 A6 YIG YRNGES! - 968 96 a8
RISIQ @ F9¢l 20da R 968 ? I S99 AUUSTIR S8 U6S T6Q
Q006 6291 § 0121 0969 561 AASUNGEE ? 6868 RUISI FILG SILIg
9@ 2RYRIS SIS FEM ? 64 & I6¢ THOR 64 gAR dISNg 66T e
ZRIFIN 69N CIFIN FINE| FHQ €1 KE0IR SIS gIF GH6S ? AIF AR
Q26 7 GRIFSIN AAULTIN AIF 98° AIRIGIN A4Sl SIFIR R
QIgel 98° Agdel 968 ARe 681 AIFSIgeR dlge A3E 9ae
GRALE | AT IE GBY CITIR 6IYRRN 62F | RS AR & Y6m AGAY G
ag) F1RIES GR g 6a@ ¢ 21911 98 294el & eI1gIn g4eIgida sqiale
- QgeY 2IgdIa 2Agdel Agae *f 2eeqls 698 94 aIed 2gg
2999 62281 9RIE Suels SIS 99l SIcIw 2969 Agaade
FISU 9 Q6L6Y ARJE £9 96° FI9E RK199a Ikiee| RIS 29|

19065 Q12IKSI 2169 KA ?[Question ID = 1298][Question
Description = S2_qSNz_PG_ORI_Q75]

1. Aigea 2946l & oI 81999 Q1elas! [Option ID = 5189]

2. SIRRQ ee! € 6 M98 Qlefae! [Option ID = 5190]

3. QSIS F966% 2iE 968 @I T 61 $1999 AIFES! [Option ID = 5191]
4. YING QINER FERRIGESITE 621R QIY FAQIT 1999 Q1I8S! [Option ID = 5192]

Correct Answer ;-
o LG9 Elq%@l & ol f19ea gigiasl [Option ID = 5189]

Topic:- 05th_Set11_2021 Shift 2_A
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The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India, UK, Australia, Canada, Spain and USA) during the year 2020. Based on the data in
the table, answer the question .

Country-wise Participafion of players in Games

G_aEes Football | Cricket | Badminton

Coun

India 1 65 55 45
UK 70 75 40
Australia 90 85 05
Canada 85 80 85
Spain 80 70 95
USA 55 60 65

The number of players participating in cricket from Canada is what percentage (%) of the
number of players participating in Badminton from India?

QO 177.77% © 176.78%
(3)  178.87% (4 180.82%

Frerfafm arferm ° ad 2020 % 2RF 37 (6) = So (wwa, foem, sefomn, #=et, w59 oIk smfe)
T A (3) rET-em Wal (Feard, fhehe 3R defied) | i o O Raentgai =t g @ s

T 2 | AT | 130 70 SIS STYR W U 1 S 4Nl

= | g frhe | Ssfites
Gl
TR F 65 | 55 | 45
fare 70 | 75 | 40
sefe | 90 | 85 95
FAE] 8 | 80 | 85
EaE] 80 | 70 | 95
ST 55 | 60 65

FATET °, iy frbe § 9 o a9 Taarisal =R @ 9 o Sefied ° anr oF g Raete #i
g w1 e gfaae 27

OV 171.77% o))
(3) 178.87% @

176.78%
180.82%

[Question ID = 2879][Question Description = Q1_GP_Set11_S1_Shift2]

1. 1 [Option ID = 11513]
2. 2 [Option ID = 11514]
3. 3 [Option ID = 11515]
4. 4 [Option ID = 11516]

Correct Answer ;-
« 1 [Option ID = 11513]
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The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India, UK, Australia, Canada, Spain and USA) during the year 2020. Based on the data in
the table, answer the question .

Country-wise Participafion of players in Games

G_aEes Football | Cricket | Badminton

Coun

India 1 65 55 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 80 70 95
USA 55 60 65

What is the total number of players participating in cricket from Canada. Spain and USA
and the number of players participating in Football from India, UK and Australia?

(H 335 (2) 635
3 439 (4) 535

Frerfafm arferm ° ad 2020 % 2RF 3% (6) = So (wwa, foem, sefermn, #=met, w9 oI smife)
o A (3) e Wal (Feard, fehe 3R defied) o s o @ faentgai = g @ s
T 2 | AT A BT T SRS F oY’ W IR SR AT

o | g frhe | Ssfifes
TR S 65 | 55 | 45
fare 70 | 75 | 40
sefen | 90 | 85 05
EZI51 85 | 80 | 85
EaC] 80 | 70 | 95
ST 55 | 60 65

FATE, WA SR SRS ¥ fpe § wiT oF are faenfesal qu wra, e sk s o earar 7 9
o ot figerrfsal 1 oo gen feed 27

1 335 (@) 635

3) 435 4 535

[Question ID = 2880][Question Description = Q2_GP_Set11_S1_Shift2]

1. 1 [Option ID = 11517]

2. 2 [Option ID = 11518]
3. 3 [Option ID = 11519]
4. 4 [Option ID = 11520]

« 1 [Option ID = 11517]

Correct Answer ;-
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The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries

(India, UK, Australia, Canada, Spain and USA) during the vear 2020. Based on the data in
the table, answer the question .

Country-wise Participation of players in Games

G_aees Football | Cricket | Badminton

Coun

India 1 65 55 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 80 70 95
USA 55 60 65

The number of players participating in Badminton from all the six countries 1s
approximately what percentage (%) of the total number of players participating in all the
games from Australia?

D 134% 2
(3 126% @

164%
157%

Frerfaftm arferm | ad 2020 % 2nF 37 (6) = So (wwa, foem, sefemn, F=mer, w69 oiR smie)
T A (3) rET-e Wal (Feard, T 3R defied) o i o @ RaentEai i men @ s
T 2 | AT A R T SRS F ORI T SRR A

o | g frhe | Ssfies
Gl
TR C 65 | 55 | 45
fare 70 | 75 | 40
sefen | 90 | 85 05
HATE] 8 | 80 | 85
EaE] 80 | 70 | 95
ST 55 | 60 65

Tl o7 3O ° e O v oF A faentsal #i gen s ¥ weft g 3 we o 9 fgentsat #
Fol T = S R Sieeid (%) & 7

(1) 134% 4)
G 126% @

164%
157%

[Question ID = 2881][Question Description = Q3_GP_Set11_S1_Shift2]

1. 1 [Option ID = 11521]
2. 2 [Option ID = 11522]
3. 3 [Option ID = 11523]
4. 4 [Option ID = 11524]

Correct Answer :-
« 1 [Option ID = 11521]
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The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries

(India, UK, Australia, Canada, Spain and USA) during the vear 2020. Based on the data in

the table, answer the question .

Country-wise Participation of players in Games

G_aees Football | Cricket | Badminton

Coun

India 1 65 55 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 80 70 95
USA 55 60 65

If country A represents the highest number of players participating in Football and
country B represents the lowest number of players participating in Badminton,
then (A, B) =

(1) (Australia, UK) (2)
(3) (Australa, Canada) (4)

(Canada, USA)
(Spain, India)

Frerfaftm arferm | ad 2020 % 2nF 37 (6) = So (wwa, foem, sefemn, F=mer, w69 oiR smie)
T A (3) rET-e Wal (Feard, T 3R defied) o i o @ RaentEai i men @ s
T 2 | AT A R T SRS F ORI T SRR A

o | g frhe | Ssfies
Gl
TR C 65 | 55 | 45
fare 70 | 75 | 40
sefen | 90 | 85 05
HATE] 8 | 80 | 85
EaE] 80 | 70 | 95
ST 55 | 60 65

Al T0 A 9 Fedia ¥ 9P oF g feenten i gen waiys 2 aw 3w B 9 dehed W am oF ae

faentsat 1 Fen w9 3 3E 99 (A, B) = 4
1) (e, Bwe) @) (Fen, SwiE)

@) (s, ) @)

(¥, )

1. 1 [Option ID = 11525]
2. 2 [Option ID = 11526]
3. 3 [Option ID = 11527]
4. 4 [Option ID = 11528]

Correct Answer ;-
« 1 [Option ID = 11525]

[Question ID = 2882][Question Description = Q4_GP_Set11_S1_Shift2]




WWW.prepp.in

prepp

Your Personal Exams Guide

3)

The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries

(India, UK, Australia, Canada, Spain and USA) during the vear 2020. Based on the data in
the table, answer the question .

Country-wise Participation of players in Games

G_aees Football | Cricket | Badminton

Coun

India 1 65 55 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 80 70 95
USA 55 60 65

If 60% of the players participating in all the games from Spain are male and 30% of the
players participating in all the games from Australia are female, then what will be their
ratio? (male : female)

1) 127:170 (@)
()  49:27 (4)

13:7
87: 65

Frerfaftam arferm ° ad 2020 % 2RF 37 (6) faft= So (wwa, foem, sefemn, F=met, w59 oI smfe)
o A (3) rET-em Wal (Feard, fhehe 3R defied) ° i o @ faentgai =i mem @ s
T 2| AT A R T SRS oY’ W YT SRR A

= | g frehe | Ssfites
Y
TR C 65 | 55 | 45
fare 70 | 75 | 40
sefen | 90 | 85 05
HATS] 8 | 80 | 85
EaC] 80 | 70 | 95
ST 55 | 60 65

7 TF o Wl T B W o O Raentsdl § 8 60% faerst 1wy 2 o smeiern @ wft wert | we oA
are Raenfsat § ° 30% ufdwa Raendt nfzen 2 a1 g7hi Gt wwar =1 3E9E 0 2 ? (9e : uigen)

1)  127:170 (2
(3) 49 . 27 (1)

F3 57
87:55

[Question ID = 2883][Question Description = Q5_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11529]
2. 2 [Option ID = 11530]
3. 3 [Option ID = 11531]
4. 4 [Option ID = 11532]

Correct Answer :-
« 1 [Option ID = 11529]
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Topic:- 05th_Set11_2021 Shift 2_B

1)

Understanding individual differences helps a teacher in :
(A)  Designing the course materials

(B) Planning a training programme

(C)  Designing teaching strategies

(D) Understanding the subject matter

(E) Raising the intelligence level of students.

Choose the most appropriate answer from the options given below :
()  (A). (B) and (C) only 2y (B). (C) and (D) only
3  (C). (D) and (E) only (4) (A). (B) and (E) only

FafFas faf=aet = auge o o 315w o g Wedt 2

A)  IETHT Tl F T = A

(B) SR GWH = TS S °

(C)  Torem =g = oo

D) o areft = woem @

(E) Taemft % oused = = ger o

fra fau 7o fampeml § © TEH SUIE ST H TE AT

1)  FEA (A), (B) IR (C) @) waa B), (C) 31 (D)
(3)  #aa (C). (D) ¥R (E) @) Fa9 (A), (B) 3R (E)

[Question ID = 2884][Question Description = Q06_GP_Set11_51]
1. 1 [Option ID = 11533]
2. 2 [Option ID = 11534]
3. 3 [Option ID = 11535]
4. 4 [Option ID = 11536]

Correct Answer ;-
* 1 [Option ID = 11533]

2)
Which of the following 1s true about understanding level of teaching?
(1) Imparting factual information
(2) Teaching to comprehend the concepts

(3) Teaching to explore the field of knowledge
(1) Teaching to develop rational thinking
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18707 = WY TaX % 91 H efeiiiad 0§ T H91 HE B ¢
(1)  azA@aqs o1 9eH il
(2)  FAAYTONHAT HI THIA =+ T Fream
(8) T &= % T=oT =g e
(4) T G = feeprE o fore fram

[Question ID = 2885][Question Description = Q07_GP_Set11_51]
1. 1 [Option ID = 11537]
2. 2 [Option ID = 11538]
3. 3 [Option ID = 11539]
4, 4 [Option ID = 11540]

Correct Answer ;-
s 1 [Option ID = 11537]

3)
A group of DTH channels devoted to telecasting educational programmes 24 x 7 basis is :
(I)  Swayam (2) MOOC
(3) Swayam Prabha (4) (Gyan Darshan

24 x 7 = wmenia A HEFAT B THRA B 2d AN S 3 T Sl B TF TR 2

() ¥ (Swayam) 2 7T (MOOC)
(3 AT (4) TH @A

[Question ID = 2886][Question Description = Q08_GP_Set11_51]
1. 1 [Option ID = 11541]
2. 2 [Option ID = 11542]
3. 3 [Option ID = 11543]
4. 4 [Option ID = 11544]

Correct Answer ;-
e 1 [Option ID = 11541]

4)
Which of the following 1s a learner-centric teaching method?

(1) Demonstration (2) Dnill and Practice

(3) Question — answer (4) Cooperative learning
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afafea 5 o SH-o Brenefl =g vzl 27

1)  vEEA (2) & 3 st
(3)  TEHA-IeR (4) wzArh srfEem

[Question ID = 2887][Question Description = Q09_GP_Set11_51]
1. 1 [Option ID = 11545]
2. 2 [Option ID = 11546]
3. 3 [Option ID = 11547]
4. 4 [Option ID = 11548]

Correct Answer :-
» 1 [Option ID = 11545]

3)

What 1s true about non-formal learning environment?

(A) Learning does not take place in a structured way
B) Does not aim at certification

(C) Learning takes place 1n a structured manner

(D) Takes place outside formal educational structure

(E) Intends to achieve pre-determined educational objectives

Choose the most appropriate answer from the options given below :

(1) (C) and (D) only (2) (D) and (E) only
(3 (A and (B) only (4) (B) and (C) only




WWW.prepp.in

prepp

Your Personal Exams Guide
- aitraTien difes afaw % ar 9 F1 A 27
(A) AT SHaftya w9 ® T8 2 T 2 |
(B)  IE THH FT ILIF T&i Tl 2 |
(C)  =iferm =xafeud @1 § 21 uiar 2 |
(D) =5 JAU=Tieh Aiee GTET SR Bl T 3 |

(E) =g yd-Feifa S 293 =0 9ra 4 1 faer @ 2 |

Hr= fou o fopeat F o wEE SUgE S B == Fifew

1) Faa (C) 3R (D) (2) Fa= (D) 311 (E)
(8) A (A) ¥R (B) (4) Fa= (B) 31T (C)

[Question ID = 2888][Question Description = Q10_GP_Set11_51]
1. 1 [Option ID = 11549]
2. 2 [Option ID = 11550]
3. 3 [Option ID = 11551]
4, 4 [Option ID = 11552]

Correct Answer ;-
e 1 [Option ID = 11549]

6)

A question whether the findings by social science researchers are relevant to the everyday
hife people in natural settings is called :

(1)  Validity of relevance (2) Natural validity
(3) Social vahidity (4) Ecological vahdity

7% VT 2 6 Urlaw aitem | wts e musmats ga o T e o Sfes e @ % T
Tt 2 71 981 2, 1 et Sl ¢

(1)  Gagar = dean (2) rpfas dear
(3)  wmIR A @) wifderhr daa

[Question ID = 2889][Question Description = Q11_GP_Set11_51]
1. 1 [Option ID = 11553]
2. 2 [Option ID = 11554]
3. 3 [Option ID = 11555]
4, 4 [Option ID = 11556]

Correct Answer :-
» 1 [Option ID = 11553]
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7)
The notion of turn-taking 1s employed in :
(1) Historical research (2) Phenomenology
3) Critical discourse analysis (4) Secondary analysis

-

aig o1 (2H-1fhT) =il srEyn %1 S9Fin fHud g 2 7

(1)  faetas Wy | (2) T R
B)  sTEEeTS Tl Ao | (@) T favewo 4

[Question ID = 2890][Question Description = Q12_GP_Set11_51]
1. 1 [Option ID = 11557]
2. 2 [Option ID = 11558]
3. 3 [Option ID = 11559]
4, 4 [Option ID = 11560]

Correct Answer ;-
» 1 [Option ID = 11557]

8)

Whach of the following are 1ssues in writing a research proposal?

(A) Selection of the appropriate topic

(B) Framing of research objectives

(C)  Framing of hypothesis or research questions

(D) Convincing frends and colleagues

(E) Choosing the correct research method and data analysis technique

Choose the correct answer from the options given below :

1 (A). (B). (D) only 2) (B). (C), (D) only
(3)  (A).(C), (D) only 4 (A), (B). (C). (E) only
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freafefaa 3 & # WY TeaE oEe § 02 A ¢
(A) I=d T W T
(B) Y ITIAT H JIAT FHEAT|
(C)  GRehodAT AYET T T =l AR 1 |
D) T SR wefe = 5 |
(B) T my ugia 2R 3eq favemo g & g9 |

fr= fou 7 fmedt 9§ T8 SO F1 999 i

1)  Fa= A). (B). (D) (2 = (B), (C). (D)
(8) @A (A), (C). (D) @ wad (A). (B), (C). (B)

[Question ID = 2891][Question Description = Q13_GP_Set11_51]
1. 1 [Option ID = 11561]
2. 2 [Option ID = 11562]
3. 3 [Option ID = 11563]
4. 4 [Option ID = 11564]

Correct Answer ;-
* 1 [Option ID = 11561]

2)
Given below are two statements :

Statement I: Integration of qualitative and quantitative research methods is a trend
accepted in social science research.

Statement II: Some critics say that research methods have ‘fixed epistemological and
ontological implications’ and as such mixed methods are not desirable.

In the light of the above statements, choose the correct answer from the options given below :
(D) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement Il 1s true
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it 41 o Rem e 3
Fod (I) :  TOTcR STR OTATCH |1 Ugid = Tehisto] TR a5 oie | w=ieha weh vafod 2 |

[ (D) : F3 TEH 1 Fedl & F 79 vgla 5 Feifa Frdme o) aomes ftay’ 2 o
e i it agfet atodm w8 #1

IHRITE I F 2F 1, 9 U o REpeul § O wdl 3T W 99 S

(1) FEIROATAZL
2 e IR [T o75ed & |
(3) FE [T 3, A w9 I 79T 21

(@) = I srmea 2, AT wa o 2

[Question ID = 2892][Question Description = Q14_GP_Set11_51]
1. 1 [Option ID = 11565]
2. 2 [Option ID = 11566]
3. 3 [Option ID = 11567]
4, 4 [Option ID = 11568]

Correct Answer ;-
e 1 [Option ID = 11565]

10)

Constant comparison 1s a tool used 1n :

(1) Grounded theory (2) Feministic theory
(3) Relational theory (4) Grand theory

TER g ST =T T TEREe rar 2 7

(1) el (ades)fagm 2) i1 g
(3) s gt 4) woIR g

[Question ID = 2893][Question Description = Q15_GP_Set11_51]
1. 1 [Option ID = 11569]
2. 2 [Option ID = 11570]
3. 3 [Option ID = 11571]
4, 4 [Option ID = 11572]

Correct Answer :-
« 1 [Option ID = 11569]
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Non-verbal communication 1s :

(1) Impractical (2) Indifferent
(3) Non - repetitive (4) Sub-conscious
AT 90 3 -

(1)  3=FeiE (2) 3IIEF

8) TR-TREgE (4) a-=d

[Question ID = 2894][Question Description = Q16_GP_Set11_51]
1. 1 [Option ID = 11573]
2. 2 [Option ID = 11574]
3. 3 [Option ID = 11575]
4, 4 [Option ID = 11576]

Correct Answer :-
* 1 [Option ID = 11573]

12)

Which of the following are barriers to understand the communicated message?
(A)  Pre-judgement

(B)  Source credibility

(C)  Length of commumnication

(D)  Source creation

(E) Existing knowledge of the receiver

Choose the correct answer from the options given below :

(1) (A), (C) and (E) (2) (B). (D)and (E)
(3  (A).(B)and (D) @ (C). (D) and (E)
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Tuftd ew ot guzE § Aefifigd 9 O sa-d1 sem 37

@) -

(B) =4 sl fagaEEa
(©)  Tem Hi
@) @ R

(E) umwt =1 foemE 3

1= fou u el o @ T ST F 9= i

L) (), (C) I (E) 2) (B, (D)3 (E)
B) (@A), B D) 4) (O). (D) 3 (E)

[Question ID = 2895][Question Description = Q17_GP_Set11_51]
1. 1 [Option ID = 11577]
2. 2 [Option ID = 11578]
3. 3 [Option ID = 11579]
4, 4 [Option ID = 11580]

Correct Answer :-
e 1 [Option ID = 11577]
13)

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Western communication tradition emphasizes the cogmitive ability of

students.

Reason (R) : Language precision does not have a place in the western system of

communication vis-a-vis students’ ability for knowledge appropriation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) 18 correct
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= 3t o R e ¥ ;o iU (Assertion A) % w9 # foifiga 2 af gm Su HRoT (Reason R) %

i
U H

A (A) ; TTTETed eSO e o ferentiE it amens ama Woae o e 2

+ (R) : Gyaor it argaed s 4 faenedi i F 3 aear S ger § ST gerear w6 g
o T 2

IR HYA H A H, 9 €ie o fomeal § W we U 3T 99 FI

D) (&) R ®) A T E AR ®). Q) F T =wen 2

2 (A =R R) A w7 E S R), (A) FwE =S @/ oL
@) (AR R ®) T T R

@ ()@ R AR ®) A R

[Question ID = 2896][Question Description = Q18_GP_Set11_51]
1. 1 [Option ID = 11581]
2. 2 [Option ID = 11582]
3. 3 [Option ID = 11583]
4. 4 [Option ID = 11584]

Correct Answer :-
e 1 [Option ID = 11581]

14)

The sequence of communication zones based on individual distances 1s

(A)  Public zone
(B) Intimate zone

(C) Personal zone

(D) Social zone

Choose the correct answer from the options given below :

1 @) ®.©). D) 2  (B). (), D). A)

3 (©). D). A). B 4 @D). @A), 1), ©)
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=AfFaeh g0 % SMUR W TETOT & =T TE A 2

(A) TEEEE & (s 1)

B) T &

©) I=fFTs o

D) T &7

Ir= 120 v fapedt § O G2 391 F1 999 FITA0

1) @A). 3. ©O). D) 2) (®B). (C), D). A)
3 (©). D). &), B 4 (D). A). B). (C)

[Question ID = 2897][Question Description = Q19_GP_Set11_51]
1. 1 [Option ID = 11585]
2. 2 [Option ID = 11586]
3. 3 [Option ID = 11587]
4. 4 [Option ID = 11588]

Correct Answer :-
e 1 [Option ID = 11585]
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Match Last I with List IT

(&)
(B)
(C)
(D)

Choose the correct answer from the options given below :

List I
Type of information and meaning
Content information
Relational information
Social meaning

Subjective meaning

(1)  A-dD, (B)-dID, (C)-AV), (D)-D
2)  A-dID, B)-AV), (O)-dD), D)-O
3) A1) B)-AD, (C)-aAV), (D)-(1D
4)  A-dID. B)-AV), (C)-1), (D)-AD
g=-1% Ty g=h-1L F1 e HiET
-1
T FAR 3 7 THR

(A) T w=et ga

(B) waUTCH® I

(C) gt 319

D) e 51y

4= 22 1o freregt 9 @ 9t 39w 954 Fifsu

(1)
2
3
)

[Question ID = 2898][Question Description = Q20_GP_Set11_51]

(A)-(ID), (B)-(LD, (C)-AV), (D)-(D
(A)-(I1D), B)-IV), (C)-AD). (D)-(D
A)-O. (B)-AD), (O)-AV), (D)-A1D
(A)-(1D), B)-IV), (O)-@). D)-AD

1. 1 [Option ID = 11589]
2. 2 [Option ID = 11590]
3. 3 [Option ID = 11591]
4. 4 [Option ID = 11592]

prepp
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List IT
Description of Characteristic
(D Shared
(II) Personal
(ITTI) Factual

V) Communicator’'s feeling

gEt-1T
RIS 1 av
D  =EEd
(D dafa®
dID) azAeT+

(IV) TUSH H W=
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Correct Answer ;-
e 1 [Option ID = 11589]

16)
Consider the following statements regarding clocks :
(A) In 60 minutes, the minute hand gains 55 minutes on the hour hand
(B) In every hour. both the hands coincide once

(C)  When the two hands are at right angles, they are 15 minute spaces apart.

Choose the correct statements from above :

(1)  (A)and (C) only (2) (&), and (B) only

(3) (B)and (C) only (4) (A). (B)and (C)

giEAl % aR § Frefeiaa e | e A

(A) 60 fiFe = fime =it g3 w2 1 g8 i gomn & 55 fime st i wnfs gl o et B
B) T S AT YAl T AR e 3 |

(C) < EFI GoAT 49" H THBIV T Brdl & 9 IHT % sfta o Tnhieh St 16 ez 2 B
e fqu e oyl & | @@t st 1 =99 Hifaw

(1) = (A) 3R (C) (2) S (A) 3R (B)

(3  Had (B) IR (C) @ (A). (B) 3K (C)

[Question ID = 2899][Question Description = Q21_GP_Set11_S1]
1. 1 [Option ID = 11593]
2. 2 [Option ID = 11594]
3. 3 [Option ID = 11595]
4. 4 [Option ID = 11596]

Correct Answer ;-
e 1 [Option ID = 11593]

17)
By selling 24 pens, a vendor lost the selling price of 6 pens. Find the loss percent
(1) 10% (2) 15%
(3) 20% 4 25%
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wh fersbar 1 24 e S U 6 B % TRkl qe % SR 26 2l 2 | g o wiaeraar s it

(1) 10% (2) 15%

@  20% 4 25%

[Question ID = 2900][Question Description = Q22_GP_Set11_51]
1. 1 [Option ID = 11597]
2. 2 [Option ID = 11598]
3. 3 [Option ID = 11599]
4, 4 [Option ID = 11600]

Correct Answer ;-
» 1 [Option ID = 11597]

18)

Given below are two statements :

Statement I: If two trains of length x km and y km are moving in the same direction at
v kmph and v kmph respectively, where u >v , then time taken by faster

train to cross the slower train is equal to (:x: L y]hrs.
U+v

Statement II : If two trains are moving in opposite directions at ¥ kmph and v kmph. Then,
their relative speed is equal to (u +v) kmph.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
4 Statement I 15 false but Statement II is true

FE (D) : T x Al Ry . o= fi 3 Tolzm o § fm § wEw oo /9 R
v e g, FMd g S @ 2 o T w>v, o 99 g O =9ad arelt @Sl grRo %\ 1t g

: x4+ ;
HeHaTel WPTEl il YR & 4 o0 954 2 =( y}a.

u+u
Fo () : R & Yemtear u Feafl, /5 oii v Fraft, /6 1 R @ gt 1 frda R § mE w0 2
al ey wratear Tid Bl (w +v) TR/
ST F9H F A 4, Fro G e 4 @ 78w = A
(1) w3 g 3 |
(2)  pvA IR I1 31 o1aed 2 |
(3)  Fu [ 5 2, AfT 9 11 579 3 |

(4) w1370 B, dfeT 9T 1O 2|

[Question ID = 2901][Question Description = Q23_GP_Set11_51]
1. 1 [Option ID = 11601]
2. 2 [Option ID = 11602]
3. 3 [Option ID = 11603]
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4. 4 [Option ID = 11604]

Correct Answer ;-
e 1 [Option ID = 11601]

19)

The value of a mobile phone depreciates at the rate of 10% every vear. It was purchased 3
vears ago. If its present value i1s ¥ 6561/-, its purchase price was.

() T 8100/ 2 T 9000/-
3) T 9100/ @ T 9729/

et wrmge B W geR 10% Wi 99 it @ W 92 /2| 39 "R H 3 a9 g @lgn T 97 | =i 3
qreTee B 1 FaH god 6561/- T 2 df TR HF ToA 7 Ui Y

(1) T 8100/- %73 (2) T 9000/- 714
(8) T 9100/-71 4 T 9729/-FH

[Question ID = 2902][Question Description = Q24_GP_Set11_51]
1. 1 [Option ID = 11605]
2. 2 [Option ID = 11606]
3. 3 [Option ID = 11607]
4, 4 [Option ID = 11608]

Correct Answer ;-
e 1 [Option ID = 11605]

20)
The least number by which 72 must be multiplied in order to produce a multiple of 112 1s
D 6 2 12
3 14 @ 18

112 =T 7T UTH 4 2d 72 1 560 Te@ B T @ 791 HET T 7

(1) 6 2 12
(3) 14 4) 18

[Question ID = 2903][Question Description = Q25_GP_Set11_51]
1. 1 [Option ID = 11609]
2. 2 [Option ID = 11610]
3. 3 [Option ID = 11611]
4, 4 [Option ID = 11612]

Correct Answer ;-
« 1 [Option ID = 11609]
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21)
“Wherever there i1s smoke. fire is also present”. Which of the following statements is true
with reference to the above statement according to Nyaya philosophy?
(A) Smoke cannot exist without fire also being present there
(B) Fire causes smoke
(C) Universal fireness causes universal smokeness

(D) It asserts that there is a relation of concommitance between smoke and fire

Choose the correct answer from the options given below :

(D Only (A) and (D) are correct (2) Only (A) and (B) are correct
(3) Only (C) and (D) are correct (4) Only (B) and (D) are correct

“SET gt w1 2 A8 M oft FrEmm 21 A TR F 9HER SWE 9 6 geY Fefafaa B @
FH-U FY TH B 7

&) i uftufs % a ge w s T B T 2|

B o g ygert 87 B 21

(C) il Al g gaieE 1 R 2 |

@) =iz Tfa & B o ot gt % S99 29 % e ueeet gew 2

g fow v fespeni H | WEl SR 1 T Shitau

(1) ¥« (A) 3R (D) & & (2) Faw (A) 3R (B) ¥E 7
(3)  ad (C) it (D) wal 2 @) aw (B) 3k (D) wd 3

[Question ID = 2904][Question Description = Q26_GP_Set11_51]
1. 1 [Option ID = 11613]
2. 2 [Option ID = 11614]
3. 3 [Option ID = 11615]
4. 4 [Option ID = 11616]

Correct Answer ;-
* 1 [Option ID = 11613]

22)

Gaven below are two statements :

StatementI: The terms Valid’ and ‘invalid’ apply to arguments.
Statement I1: The terms ‘Cogent’ and ‘Non-cogent” apply to statements.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
3 Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II 1s true
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HoF (I): U2 99 IR “srda’ w1 T @k IREA 5 Ted | R S 2|
oA (II) : U3 @ (isie) ok ‘swma (AF-whisie) 1 TF B9 o gy o S 2 |
IYLH FYT H S |, = f2v v e § O w8 39K F =9Ee hieu
(1) =IO aE a3 |
(2) o IR I3 o/@eT 2 |
(3)  Fu I ¥ 3, A weA I o18cT 2
() =R I 2, il w9 LT 21

[Question ID = 2905][Question Description = Q27_GP_Set11_51]
1. 1 [Option ID = 11617]
2. 2 [Option ID = 11618]
3. 3 [Option ID = 11619]
4. 4 [Option ID = 11620]

Correct Answer ;-
* 1 [Option ID = 11617]

23)

Consider the series — “animal, mammal, feline, tiger”. Which of the following statement/s
1s/are true with reference to this seres

(A) It is1in order of increasing intension
(B) It is in order of increasing extension
(C) It is in order of decreasing intension
(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1) Only (B) 1s correct (2) Only (B) and (C) are correct
(3) Only (A) and (D) are correct (4) Only (C) 1s correct

WA - M, TAad, fase-aEl, s/m w fmr it 3@ %9 % gaw A Fefafaa @ o9
ﬁm{ﬁq—nwﬁo/ﬂ—
(A) ¥z Fad 3¢ 9A (S2vH) HHA A 2
B) T FEd T O F FH A T
(C) 7 9ed 3¢ 99 (329H) FFA H 2
D) 8 ued 7C A S wu A 2

4= faw o fowmedl # O U@ IO W = SHifag

1) wFa B)TE B (2) Faa (B) 3R (C) TH &
(3 FEE (A) 3R (D) FE B (4 a7 (C) T 2

[Question ID = 2906][Question Description = Q28_GP_Set11_51]
1. 1 [Option ID = 11621]
2. 2 [Option ID = 11622]
3. 3 [Option ID = 11623]
4, 4 [Option ID = 11624]
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Correct Answer ;-
e 1 [Option ID = 11621]

24)

“All people who live In Varanasi are people who drink tea, and all people who drink tea are
people who like 1t. We may conclude, then, that all people who live in Varanasi are people
who Iike it. What is wrong with this argument?

(A)  There is equivocation on the term “People who like 1t.”
(B) It commits existential fallacy
(C) It commits fallacy of exclusive premises.

(D) It commits fallacy of four terms.

Choose the correct answer from the options given below :

(1) Only (A) 1s correct (2) Only (A) and (C) are correct
(3) Only (A) and (B) are correct (4) Only (A) and (D) are correct

“arordt § A g adt | = 9 2, 3 = dHare gt a9 o 38 vhe = 21 99 29 ey
T Thd 7 T anuEl 1 = A ot S A @ E S 3H TEE W 2 | T @ 3 9 A0 27

)  eEfa A e T e /e
B) o wftaETeR T 2|

(C)  35¥ 3 STIUTIGH 1 BeaTa™ 7 |

(D) 7o R UL LA 2|

A fow o fpeal ®§ °§ Tal ST) 1 =9 Fie ¢

1 Fa Q) TE (2) waer (A) 3R (C) T8t 3
(8) I (A) R B) T F @ Fa (A) IR (D) FE F

[Question ID = 2907][Question Description = Q29_GP_Set11_S1]
1. 1 [Option ID = 11625]
2. 2 [Option ID = 11626]
3. 3 [Option ID = 11627]
4. 4 [Option ID = 11628]

Correct Answer ;-
e 1 [Option ID = 11625]

25)
In which of the five steps of inference (anumana) in the Nyava syllogism all the three terms
stand synthesized?
(1) Upanaya (2) Nigamana

(3) Udaharana (4) Hetu
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=T 29F A AT % 9T = § o Beg = 4 osfi d oz gveifia e 27

1) ST Q) FreE
3)  sEEm @) =4

[Question ID = 2908][Question Description = Q30_GP_Set11_51]
1. 1 [Option ID = 11629]
2. 2 [Option ID = 11630]
3. 3 [Option ID = 11631]
4, 4 [Option ID = 11632]

Correct Answer ;-
e 1 [Option ID = 11629]

26)

Which of the following 1s equivalent to 8 Giga bytes?
(1) 223 bytes (2) 233 bytes
(3)  2¥ bytes (4) 228 bytes

eferfiga O o -7 8 M aee & a2 7

(1) 223 9132 Q) 23
(3) 230 #7152 (4) 2289r32

[Question ID = 2909][Question Description = Q31_GP_Set11_51]
1. 1 [Option ID = 11633]
2. 2 [Option ID = 11634]
3. 3 [Option ID = 11635]
4. 4 [Option ID = 11636]

Correct Answer :-
¢ 1 [Option ID = 11633]

27)
Internet Explorer and Mozilla Firefox are :

(1) Web Portals (2) WWW browsers
(3) Search Engines (4) Compilers
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(1) o9 uea Q) WWW F=S
(8 =H I (4) FEIER

[Question ID = 2910][Question Description = Q32_GP_Set11_51]
1. 1 [Option ID = 11637]
2. 2 [Option ID = 11638]
3. 3 [Option ID = 11639]
4, 4 [Option ID = 11640]

Correct Answer ;-
« 1 [Option ID = 11637]

28)

Identify the correct order of development of the following storage devices in the ascending
order of their emergence.

(A DVD

(B) CD-ROM

(C)  Magnetic Tape
(D) Floppy Disk

Choose the correct answer from the options given below :

DO (©). D). A), G 2 D), ©), B, &)
3 ®.O.0. W @ (O, D). B). A)

freferitan Teis TSamsal 1 S99 359a el o Fal STRIE 9 § fiaq $ifao |
@A)  FARE

B) Hi. I TH
(C) Hifew 2y
D) ANt TSFF

4= fau v epeTl O O T STR % 9 it

(L  (C). (D), A), (B) 2) (D), (C). (B). (A)
3 ®.D.©C).W @) (C). (D), B), (A)

[Question ID = 2911][Question Description = Q33_GP_Set11_51]
1. 1 [Option ID = 11641]
2. 2 [Option ID = 11642]
3. 3 [Option ID = 11643]
4, 4 [Option ID = 11644]

Correct Answer ;-
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* 1 [Option ID = 11641]

29)

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A): Internet is one of the popular services offered on the World Wide Web
(WWW).

Reason (R) : The WWW 1s the universe of network — accessible information.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) 1s true

e 2w fu e #, uw YT (Assertion A) % B W faflgd & a1 38U 30 wRU (Reason R) %

-
4 H :

AR (A) : T A8 A5S 99 (WWW) T g2 et siar] T @i 9ar 2 |

F (R) : WWW J2a% % Wem ¥ 959 aieit Fo1sT 1 TF S T6R 2 |
ITIE T F SUE 4, A" 12 T et § ¥ TE 3T T 99T i

(1)  (A) R (R) I 7 3 3 R), (A) F wE = 2 |
(2) (A ¥R (R)IF 77 3, oA R), (A) Fi T =men 765 2
(3 (AT 2, df R) IE9A 2|

4 (A) 31T 2, | (R) T3 21

[Question ID = 2912][Question Description = Q34_GP_Set11_51]
1. 1 [Option ID = 11645]
2. 2 [Option ID = 11646]
3. 3 [Option ID = 11647]
4. 4 [Option ID = 11648]

Correct Answer :-
» 1 [Option ID = 11645]
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30)
Match List I with List IT
List I List IT
(Dagital Initiative) (Objective)

(A) e-Vidwan (I) Digital-learning environment for
design

(B) e-Kalpa (I) Subscription—-based scholarly
information (e-books and e-journals) at
lower rates.

(C) e-Yantra (III) Expert Database and National
Research Network

(D) e-Sodh Sindhu (IV) Spread education in Embedded

Choose the correct answer from the options given below :

o)) A)-A1). B)-(1V). (C)-@). (D)-1AI)
(2 A)-AD, B)-(D). (C)-AV), (D)-A1LI)
8  @-Im. B)-D. (C)-aV), (D)-ID)
CY) A)-@. B)-1ID). (C)-IV). (D)-AI)
-1 % w1 g-11 1 e shifsr -
T gEt-11
Bhree = ST
Q) 3-fgm @ e 3g Bfvea sttrm wamsz
B) E-F d) = W W Foh-MUWE ASPH  qE
(-5 i E-afie)

(C) - D FEmT STea IR TYA 989N Jeah
D) E-wy oy aAV) faeenm iR Usifeed d af=ifza s e

A f2u U et 9§ T8 IO w1 999 Fie

[Question ID = 2913][Question Description = Q35_GP_Set11_51]
1. 1 [Option ID = 11649]
2. 2 [Option ID = 11650]
3. 3 [Option ID = 11651]
4, 4 [Option ID = 11652]

Correct Answer :-
» 1 [Option ID = 11649]
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systems and Robotics

(A)-(I). B)-(IV), (C)-D), (D)-AD
A)-1D., B-D), (C)-av), (D)-d1
(A)~(IID). (B)-(D. (O)-(IV), (D)-1D
(A)~D). (B)-AID). (C)-(IV), D)-AD
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‘To conserve and sustainably use the oceans, seas and marine resources’ — is the aim of
sustainable development Goal number :
(1) 10 2 12

3 14 4 16

TETETR, WO 37T FHE GEIEAT 6 Aad B A ST GORE ST A 99ReiE fawE i PR
T TEAT T FeqA 2 ¢

I 10 @ 12

3 14 4 16

[Question ID = 2914][Question Description = Q36_GP_Set11_51]
1. 1 [Option ID = 11653]
2. 2 [Option ID = 11654]
3. 3 [Option ID = 11655]
4. 4 [Option ID = 11656]

Correct Answer ;-
* 1 [Option ID = 11653]

32)

According to composition (%) of typical fine continental aerosols, identify the correct
sequence 1n decreasing order.

(A) Sulphate

B) Ammonium

(&) Organic carbon
(D) Elemental Carbon

Choose the correct answer from the options given below :
O A=O=OB>D 2 A>B®=0)=D)
3 ©O©=A@=®=D) @ O>=D=B=W

ferfire gem werdnim amfEeal = vfavm (%) Foch & STIAN, Wl IEUs] A i T HIg

-

(A) TRk

(B) WM

(C)  #I Free

D) eHeA FEA

Ji9 feu o fampeat & & @t =1 3w gf

1 A=©O)=>>B)> D) 2) @>@®B>C)=>D)

3 ©O=>=@A@=>>B>D) @ ©O>D)>®B>@A)
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[Question ID = 2915][Question Description = Q37_GP_Set11_51]
1. 1 [Option ID = 11657]
2. 2 [Option ID = 11658]
3. 3 [Option ID = 11659]
4. 4 [Option ID = 11660]

Correct Answer :-
« 1 [Option ID = 11657]

33)
Point sources of water pollution are :
(A)  Underground coal mines
(B) Run-off from farm fields
(C) Sewage treatment plants
(D) Run-off from roads and construction sites

(E) Power plants

Choose the correct answer from the options given below :
(1)  (C). (E)only (2)  (A). (C), (E) only
3) A ©). D), (E)only (@) (B).(C), (E)only

S YT % Y@ 6d & -

A)  yftra FEe @H

B) =@di ¥ 9 W qFE

(C) Wi YT T34

D) TH AR Foo e 8 F99 52

(E) faga @
fro féu o e 9 9 73 s = 3= Fifso

(1) == (C), (E) (2) Faa (A), (C) 3R (E)
(3) Fa4 (A), (0). (D), (E) @) Fad (B), (C) 3R (E)

[Question ID = 2916][Question Description = Q38_GP_Set11_51]
1. 1 [Option ID = 11661]
2. 2 [Option ID = 11662]
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3. 3 [Option ID = 11663]
4. 4 [Option ID = 11664]

Correct Answer :-
e 1 [Option ID = 11661]

34)

The optimal range of wind speeds for wind power generation is :

(1) ~32—-40 m/s (2) ~24-30m/s
(3) ~15—22 m/s 4 ~4-12m/s

Ta9 T 3cU1Ed 25 =41 i g i =odE O B -

(1) ~32-40./3. (2) ~24—30d./4.
(3) ~15—22 4./, 4) ~4-—12 /3.

[Question ID = 2917][Question Description = Q39_GP_Set11_S1]
1. 1 [Option ID = 11665]
2. 2 [Option ID = 11666]
3. 3 [Option ID = 11667]
4, 4 [Option ID = 11668]

Correct Answer ;-
e 1 [Option ID = 11665]

35)

In the international Solar Alliance Mission, these entities are corporate Partners from India :

(A) National Thermal Power corporation
(B) Power grid corporation

(C)  State Bank of India

(D)  Rural Electrfication Corporation

(E) Indian Renewable Energy Development Agency

Choose the correct answer from the options given below :
1 A, D). (E)only (2) (A), (C). (D) only

3y  (A).(B). (D) only (4} Q). B). (D). (E) only
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- - - - - - - r .
TEEIAA Fien ATHy oA 9 F=faiaa 9e9e 9rg 9 RuiE uea 3

A) T amleEga e
B) TS HRARTH
(C) R =2 &%

D) T e Fm

(E) WA Tiepmiia Sl o useat

H= fau U foreped O @ TEl ST H 9= AT

(1)  Faa (A). (D). (B) 2) F4a4 (A), (C), (D)
(3 waa (A), (B), (D) @) Faa (A), (B), D). (B)

[Question ID = 2918][Question Description = Q40_GP_Set11_51]
1. 1 [Option ID = 11669]
2. 2 [Option ID = 11670]
3. 3 [Option ID = 11671]
4. 4 [Option ID = 11672]

Correct Answer ;-
e 1 [Option ID = 11669

36)

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Although in terms of number of publication of research papers India is
quite ahead of many countries. its position In world Ranking of

Universities 1s quite low,

Reason (R) : The quality of most of the research papers published by scholars from
India 1s not very good.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct
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= g FoA U 0§ : uw AERTR (Assertion A) % ¥ H fafigd & 91 @0 Sk T (Reason R) %
w0 q

FARHTA (A) : 7l W9 WA b THII S W& *h GEY 0 WG §gd ° oW W wrhl HAG B, 3

fawa % fvaterem i e 4 =m = f= 2 )
FRO (R) : TG f5ge % Tiora siferniora: iy TN 9 TEcdT S5d 3% TEl 2

S FYF F AAF 9, A9 e T el § U 79d I 39 9 i

D (AR ®)IFA T AR R), (A) F 7@ T L

@ (A AR ®) IA wE F AR ). (A) B wE e T 2
@ (A" 2wl R) o T 2

@ (&) 2 A ®) @ R

[Question ID = 2919][Question Description = Q41_GP_Set11_51]
1. 1 [Option ID = 11673]
2. 2 [Option ID = 11674]
3. 3 [Option ID = 11675]
4. 4 [Option ID = 11676]

Correct Answer :-
e 1 [Option ID = 11673]

37)
In which text among the following. importance has been given to multi-disciplinary
education?
(1) Abhigyvan Shakuntalam (2) Raig- Veda
(3) Upanishad (4) Kadambari

ferfefiaa o o forg T 1 sg-fawes e =+ fow aee o e 27

(1)  ATYFH SF-aey (2) e
(8) Tutme (4) =Sl

[Question ID = 2920][Question Description = Q42_GP_Set11_51]
1. 1 [Option ID = 11677]
2. 2 [Option ID = 11678]
3. 3 [Option ID = 11679]
4, 4 [Option ID = 11680]

Correct Answer ;-
« 1 [Option ID = 11677]
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38)
Given below are two statements :
Statement I: Women research scholars find it difficult to cope with the dual

responsibilities of research activities and family responsibilities.

Statement II : There 1s a signmificant drop out of the women research scholars in our

country.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 15 incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Hr g wvE oo

He (I): Tl WY SLY WY TiaiemE 3t Raries el $ gel Sl % Fare 9 Hiers
T AT BT 7 |

%o (ID): T9R <7 | ufzen wusene e (Fny = e 8 5 31 24) F9H arelt i ge wrhl s1iu
g

ST BT 6 A |, et 13 e fereul 3 9 ged 3wt Sl W 9E i

(1) =FRIARIIAaHE

(2) w9 I 3R I 3H 7o = |

(3) = 1uE 2, oy Il e 2 |

(4 = I7ad 2, dfed o ILE8 2

[Question ID = 2921][Question Description = Q43_GP_Set11_51]
1. 1 [Option ID = 11681]
2. 2 [Option ID = 11682]
3. 3 [Option ID = 11683]
4. 4 [Option ID = 11684]

Correct Answer :-
* 1 [Option ID = 11681]
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Match List I wath List I

List I
(A) Charak
(B) Sushrut
(C) Varahmihira
(D) Kanad

1 @-@. B)-IV). (O)-aD. (D)-(III)
2  A-AID, B)-1). (C)-AV). (D)-AD)
3)  A)-ID. (B)-dID). (C)-AV), (D)-I)
@  A-1V), (B)-A), (C)-(D. (D)-(I1D)

gi-1 % T g=-11 =1 fiem $ifse .
THi-1
(A) ==

B) gYa
(C) amEmE

(D) =g

4= feu U fompeat 9§ § wEl SO W 99 AT,

1D @-O. B)-AV). (O)-AD. (D)-A1I)
2  @-dmI). B)-1). (C)-AV). (D)-AD
3  A)-ADh, (B)-dID. (O)-AV). D)-(1)
@  A-AV), B)-dD. (C)-O). (D)-d1D)

Choose the correct answer from the options given below :

prepp
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List IT
(I) Physics
(II) Medicine
(III) Surgery
(IV) Astronomy
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[Question ID = 2922][Question Description = Q44_GP_Set11_51]
1. 1 [Option ID = 11685]
2. 2 [Option ID = 11686]
3. 3 [Option ID = 11687]
4. 4 [Option ID = 11688]

Correct Answer :-
* 1 [Option ID = 11685]

40)

Which among the following are the objectives of higher education?
(A) To educate every citizen

(B) To promote economic growth

(C)  To improve the 1mage of the country

(D) To promote critical thinking

(E) To compete with the neighbouring country.

Choose the correct answer from the options given below :
1 (A, (C)only (2) (B). (C)only

3) (C). (D) only (4 (B). (D) only
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(A)
(B)
(€)
D)

(E)

(1

(3)

Feffga & @ #1939 e & =7 3

T AT i T97ieaa = |
a1t gfg =1 Jenfea = |
21 i Bfa = G |

STATEATCHS Oid o] JiedTiEd &4 |

g Tau 77U faeq O O G2 39 F1 9949 Fifau

Faa (A), (O)

#Faa (C), (D)

[Question ID = 2923][Question Description = Q45_GP_Set11_51]
1. 1 [Option ID = 11689]
2. 2 [Option ID = 11690]
3. 3 [Option ID = 11691]
4. 4 [Option ID = 11692]

Correct Answer :-
e 1 [Option ID = 11689]
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2) =& (B). (C)

4) =aa (B). (D)

Topic:- 05th_Set11_2021 Shift 2_C

1)
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Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa 1s free of
the wald polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has mghtly called 1t “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 15 four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigena.
The achievement is all the more remarkable as it comes when the world 1s in the grip of a
virus which 1s challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success n Aftica. The only two
countries where the viral affliction is still present and 1s a live threat are Pakistan and
Afghamistan. There 1s no cure for polio which causes irreversible paralysis, mostly among

children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started 1n 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 15 estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child 1n the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an

unprecedented scale. There were geographical and chimatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would caugse infertility or spread HIV were another problem. This is still a serlous
problem i Pakistan and Afghamistan. India, which once had the highest case load 1n the

world, was declared polio-free in March 2014.

Which landmark achievement was declared “Historic' by the WHO?

(D Coming together of WHO and UNICEF to launch vaccination programme.
(2) Polio-free Africa

(3 India becoming polio free 1n 2014

(4) All the countries of the world becoming polio free.
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frferitaa e = Utey o7 o oE W5 W I 4N

oA TR O (3% U= 1) i 7% aivn R g0 onfie aises wiferl arE @ U9 B T 3, O
<o Tl 3 Wi 3 il % freg Avas s 1w ageayl fie w1 eor 2 ) fave wawe fem A
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Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa 1s free of
the wald polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has mghtly called 1t “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 15 four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigena.
The achievement is all the more remarkable as it comes when the world 1s in the grip of a
virus which 1s challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success n Aftica. The only two
countries where the viral affliction is still present and 1s a live threat are Pakistan and
Afghamistan. There 1s no cure for polio which causes irreversible paralysis, mostly among

children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started 1n 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 15 estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child 1n the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an

unprecedented scale. There were geographical and chimatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would caugse infertility or spread HIV were another problem. This is still a serlous
problem i Pakistan and Afghamistan. India, which once had the highest case load 1n the

world, was declared polio-free in March 2014.

Why polio vaccination is important for WHO?

(1) There 1s no cure for polio.

(2) Pakistan and Afghanistan have the most polio afflicted population.
3) The failure of vaccination programme in many parts of the world.

(4) The large amount of money invested in the programme,
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Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa 1s free of
the wald polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has mghtly called 1t “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 15 four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigena.
The achievement is all the more remarkable as it comes when the world 1s in the grip of a
virus which 1s challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success n Aftica. The only two
countries where the viral affliction is still present and 1s a live threat are Pakistan and
Afghamistan. There 1s no cure for polio which causes irreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started 1n 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 15 estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child 1n the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chimatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would caugse infertility or spread HIV were another problem. This is still a serlous
problem i Pakistan and Afghamistan. India, which once had the highest case load 1n the

world, was declared polio-free in March 2014.

The countries still afflicted by polio are in :

(1) Balkan region (2) Latin America
(3) Asia (4) Sub-Saharan area
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Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa 1s free of
the wald polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has mghtly called 1t “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 15 four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigena.
The achievement is all the more remarkable as it comes when the world 1s in the grip of a
virus which 1s challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success n Aftica. The only two
countries where the viral affliction is still present and 1s a live threat are Pakistan and
Afghamistan. There 1s no cure for polio which causes irreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started 1n 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 15 estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child 1n the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chimatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would caugse infertility or spread HIV were another problem. This is still a serlous
problem i Pakistan and Afghamistan. India, which once had the highest case load 1n the

world, was declared polio-free in March 2014.

The world wide campaign for eradication of polio was launched by

(1) International civil society (2) Inter-governmental agencies
3) UN agencies (4) US agencies
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Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHO) that the whole of Africa 1s free of
the wald polio virus is an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has mghtly called 1t “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 15 four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigena.
The achievement is all the more remarkable as it comes when the world 1s in the grip of a
virus which 1s challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success n Aftica. The only two
countries where the viral affliction is still present and 1s a live threat are Pakistan and
Afghamistan. There 1s no cure for polio which causes irreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started 1n 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 15 estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child 1n the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chimatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem i Pakistan and Afghamistan. India, which once had the highest case load 1n the

world, was declared polio-free in March 2014.
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What were the main challenges against polio vaccination prgrammes?
(A) Non — availability of Vaccine

(B) Paucity of funds

(C) Spread of disinformation

D) Logistics

Choose the correct options:
(1) (A) and (B) only (2) (B)and (C) only
(3) (A) and (D) only 4) (C) and (D) only
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